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Question ID:- 1212
Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an
organization along with the Male and Female ratio is given.

Regular Employees |Contractual Employees
Departments Total Number ;au: Total Number slat':
IT 250 1 |1 [240 2
Accounts 123 2 |1 |130 3 |2
HR 90 3 |2 |30 2 1
Marketing (350 5 |2 |343 5 |2
Production |304 5 |[3 |351 5 |4

ATferehT o1 3read R 3R ITh TR R mu s s e :

A & arferent J foreht e & fafa Rvri & ger afaiRal Y e aur gow ok afgen srqura
e mam 21

Fafaa weaRt Tfaer smenRa =Y
A . |erguta | 31T

el =T o [afeeT el =T e e
3ms & 250 1 1 240 2 1
Giel 123 2 |1 130 3| 2
HTg 991e4 90 3 2 30 2 1
fago= 350 5| 2 343 5| 2
IS 304 5| 3 351 5| 4

Find out the difference between regular male employees and contractual male employees in the
organization.

e # Faffa gou earRat ik d@fder smarRa gew sd=nial &Y e @ siar ara & -
Options:-
.2/2, Option ID :- 4845,




. 3/3, Option ID :- 4846,
. 4/4, Option ID :- 4847,

. 5/5, Option ID :- 4848,
Answer Given:- 2/2, Option ID : -4845

Question ID:- 1211
Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an
organization along with the Male and Female ratio is given.

Regular Employees |Contractual Employees
Departments Total Number slat': Total Number slat':
IT 250 1 |1 |240 2 1
Accounts 123 2 |1 |130 3 |2
HR 90 3 |2 |30 2 1
Marketing (350 5 |2 |343 5 |2
Production |304 5 |[3 |351 5 |4

ATferehT o1 3read &R R ST TR Ry mu s F s 2 :

A & arferenT J forelt e & fafda Rvri & ger faiRal Y S aur gow ok afgen srqura
e mam 21

e =t dfaer smenRa =Y
A . |eguta | 31T

el HE=AT o[RS el HE=T e [
g & 250 1| 1 240 2 | 1
Giel 123 2 | 1 130 3| 2
HTHg S91e_ 90 3 2 30 2 1
fago= 350 5| 2 343 5| 2
I 304 5| 3 351 5| 4

Find out the average number of regular female employees in the organization.

Tired A Rafaq afgen sdRat f siua dear I & .
Options:-

.78.50/78.50, Option ID :- 4843,

. 79.40/79.40, Option ID :- 4844,

. 81.25/81.25, Option ID :- 4842,

. 83.20/83.20, Option ID :- 4841,
Answer Given:- 78.50/78.50, Option ID : -4843

Question ID:- 1215

Study the given table and answer the questions that follow




Given below is a table in which the total number of employees in different departments of an
organization along with the Male and Female ratio is given.

Regular Employees |Contractual Employees
Departments Total Number :;Iat':: Total Number :;Iat'g
IT 250 1 |1 |240 2 |1
Accounts 123 2 |1 |130 3 |2
HR 90 3 |2 |30 2 |1
Marketing |350 5 |2 |343 5 |2
Production |304 5 |3 |351 5 |4

arferenT AT 3reaT &1 3R Sud A Rumuusi e e :

A & arferent J forelt e & fafa v & ger afaiRal Y S aur gow ok afgen srqura
e mam 21

Aafag = dfaer smenRa =t
R . |eguta | ST

el ST Ten [afEeT el &1 eu e
3ms & 250 1| 1 240 2| 1
Giel 123 2 | 1 130 3| 2
HTHg S91e_ 90 3 2 30 2 1
fago= 350 5| 2 343 5| 2
I 304 5| 3 351 5| 4

Which department has the highest number of female employees?

fra fRum & wigen sdaRal i gaffds dear g ?
Options:-

.Accounts/«@T", Option ID :- 4859,

. IT/3m$ &, Option ID :- 4857,

. Marketing/fagur=, Option ID :- 4860,

« Production/3dTe+, Option ID :- 4858,
Answer Given:- Production/3d1&4, Option ID : -4858

Question ID:- 1214
Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an
organization along with the Male and Female ratio is given.

Regular Employees |Contractual Employees

Departments Total Number ;au: Total Number ;au:
IT 250 1 |1 |240 2 1
Accounts 123 2 |1 {130 3 |2
HR 90 3 |12 |30 2




Marketing |350 5 343 5 |2
Production |304 5 |3 |351 5 |4

N

aiferenT a1 3reaa &R R ST TR R MU usit s 2 :

= & 71 arferent & fheht dwree o faf = frumit § grer sl i S aur g ok afger squra
fem mar @1

afg st dfaer smenRa =t
faramT e | . 3T

el H&=AT S — el =T e [t
31Ts & 250 1| 1 240 2| 1
Giel 123 2 | 1 130 3| 2
AT Y | 90 3| 2 30 2| 1
IEELE] 350 5 | 2 343 5| 2
ITe 304 5| 3 351 5| 4

Find out the difference between the number of contractual male employees and the number of
contractual female employees in the organization.

wire+ | dider simutRa qeu sd=nial &Y e aur d@faer snulea afgen sdarRat i d=n & dig
SR AT R :

Options:-

«295/295, Option ID :- 4854,

. 298/298, Option ID :- 4853,

. 302/302, Option ID :- 4855,

. 307/307, Option ID :- 4856,
Answer Given:- 295/295, Option ID : -4854

Question ID:- 1213
Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an
organization along with the Male and Female ratio is given.

Regular Employees |Contractual Employees
Departments Ratio Ratio

Total NumberM 3 Total Number M
IT 250 1 |1 |240 2 |1
Accounts 123 2 |1 130 3 |2
HR 90 3 |2 |30 2 1
Marketing |350 5 |2 |343 5 |2
Production |304 5 |[3 |351 5 |4




aiferenT a1 3reay R R ST TR RT U usit F s 2 :

= & 71 arferent & fheft dre= o faf = frumit & grer sl & e aur gow ok afger srqura
R man g1

Fafag s dfaer smeRa =
faamT . |egEe | . ST

el =T o e el &1 ow [
31 &t 250 1| 1 240 2| 1
Giel 123 2 1 130 3| 2
AT ERE | 90 3| 2 30 2 |1
faqure 350 5 2 343 5 2
I 304 5| 3 351 5| 4

What is the respective ratio of the total number of female employees in the marketing department
to the total number of female employees in the production department?

g favm & wigen sdaRal 6 et dean aur Iarea v A afgen wdlal f oo den &
daFr srqua @ ?

Options:-

.11/13/11/13, Option ID :- 4850,
. 11/15/11/15, Option ID :- 4852,
. 12/13/12/13, Option ID :- 4849,

. 12/17/12/17, Option ID :- 4851,
Answer Given:- 11/15/11/15, Option ID : -4852

Subject : GP_24NOV_SH2_B

Question ID:- 1224

According to Wimmer and Dominick, the sequential steps in content analysis are:
A. Defining the population

B. Selection of appropriate sample

C. Identifying the unit of analysis and construction of categories

D. Code, analyse and draw inferences from the collected data

E. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

famR ok 2HifAe & SrgaR Rvgeg fAsdvor & F=fafaa ol #l adt Fa d -
A. Tafe &t aRefda e

B. 3« ufagsf &1 aa= &w=Ami

C. farsdwor <Y gt ik Aot R == S ug== AT

D. Hufgd sfichel ol Fheag weAl, fAsauor &z ok fAserd AapTer

E. eiterehaf ZRT nter usit ar uRereuarait et fAmfor s




H fRw e faereat & 9 9 IR o1 9+ hifog :
Options:-

.A, B, C, D, E, Option ID :- 4893,

. B,C, D, E, A, Option ID :- 4894,

. C,D,E, A, B, Option ID :- 4895,

. E, A, B, C, D, Option ID :- 4896,
Answer Given:- C, D, E, A, B, Option ID : -4895

Question ID:- 1221

Independent verification of a research effort is known as

foreft 2nrer v <hT TS SATUA ST hEgATdT @ ?
Options:-

.Enquiry/q=sT, Option ID :- 4881,

. Investigation/3r=awur, Option ID :- 4884,

. Probe/STi, Option ID :- 4882,

. Replication/g=R1gfx, Option ID :- 4883,
Answer Given:- Investigation/3r=awut, Option ID : -4884

Question ID:- 1217

Which of the following are the characteristics of an adolescent?
A. Increasing independence from adult control

B. Rapid physiological changes

C. Emotionally matured

D. Acts rationally

E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

foran¥l it F=forf@a & @ o o Riduang & 2

A. TaEh! o fasor @ gedt e

B. e w=ifaenfaes afkerd

C. YAt U 4 yRuea

D. arfher gfeertor & fokar s

E. THhel T9gl & a1y nfafafdet ur sifdes e &
H fRw v faereat & 9 98 IR &1 = fifog :

Options:-
.A and B only/&ae A 3R B, Option ID :- 4865,




. A, B and C only/&as A, B 3R C, Option ID :- 4866,
. A, B and D only/&ae A, B 3fR D, Option ID :- 4867,

. A, B and E only/@haet A, B 3iR E, Option ID :- 4868,
Answer Given:- A, B and D only/&aet A, B 3R D, Option ID : -4867

Question ID:- 1251

Which of the following are the major recommendations of the NEP-2020 related to higher
education?

A. To increase GER from 26.3% to 50% by 2035

B. Establishment of world-class universities

C. 'Light but tight' regulation by a single regulator for higher education
D. Promoting research in science and technology

E. Opening of 1500 more universities

Choose the correct answer from the options given below:

g € bt - 2020 # 3= fAen & ey & Fr=afaf@a d @ w9 o uga RAwRed & 2
A. STi$eIR oAt 26.3% T TR 2035 dch 50% HATI

B. fasy - =g fAayfaeareral & o=

C. 3= fAer & fow gt fAfamIes gR1 'goat fohg FoRR (viTse e erge) fafAwa
D. Rz ofik senfrdhY # 2nter &t srgrar 3=

E. 1500 3R fagfaenea @ierm

H fRw v faereat & @ 98 IR o1 T hifog :

Options:-

.A and B only/&ae A 3R B, Option ID :- 5001,
. A and C only/draet A iR C, Option ID :- 5002,
. B and D only/&ae B 3iR D, Option ID :- 5003,

. D and E only/axa<1 D 3fR E, Option ID :- 5004,
Answer Given:- A and C only/&ae A 3R C, Option ID : -5002

Question ID:- 1226

In the transactional type of communication, the elements are:

Hegagiieh UV &, axa FQ gid & ?

Options:-

.Inactive/fAfeka, Option ID :- 4904,

. Independent/¥ad=, Option ID :- 4901,

. Inter-dependent/uz=R 3R, Option ID :- 4902,
. Neutral/de¥y, Option ID :- 4903,




Answer Given:- Neutral/de¥, Option ID : -4903

Question ID:- 1237

Match List | with List Il

List | List I

A. Sannidhi|l. Mutual fitness and compatibility of the constituent words in a sentence
B. Tatparyal|ll. Expectancy between the words different in a sentences

C. Yogyata [lll. Propinquity between the different words in a sentence

D. Akanksa [IV. Meaning intended by the sentence

Choose the correct answer from the options given below:

Tt -1 G -1l & gAfea fifsg

Tt -l (-

A iy l..amﬁmalahﬁrmmﬂa;aumaﬂ?
HTadr

B. drcqd |Il. avera | 2r=gl o s wenen

C. givgd |lIl. arery A fafa= ereal & ot g

D.

e IV. arerr ZRT ifaud aref
# R 7y fareat & €@ wd SR gl
Options:-

WA-11,B-1,C-1ll,D - IV, Option ID :- 4945,
«A-1I,B-1,C-IV,D - Ill, Option ID :- 4947,
«A-1Il,B-1V,C-1,D - Il, Option ID :- 4948,

«A-1V,B-II,C-1ll,D -1, Option ID :- 4946,
Answer Given:- A-1l,B-1,C-1V,D - lll, Option ID : -4947

Question ID:- 1246

According to Niti Ayog's SDG Index (2019-20), which among the following states is the best
performer in the attainment of SDG-5 (Gender Equity)?

Hifar smaiT & sl gamia (2019 - 20) & FJAR, THENS - 5 (AR T ured & J
A=fafEa 9 @ fha =g s s adsiv g ?

Options:-

.Goa/T, Option ID :- 4984,

. Himachal Pradesh/fgaraet uder, Option ID :- 4982,

. Kerala/&=e, Option ID :- 4981,

. Sikkim/f&faRra, Option ID :- 4983,
Answer Given:- Kerala/@w<e, Option ID : -4981

Question ID:- 1233

If the difference between compound interest and simple interest on some principal amount at
20% for 3 years is Rs 64, then the principal amount is -




gf foreft geea R 20% &Y &R @ 3 af & g Fergfy saTeT Sk ATYRUT TSt 1 31k 64 T &,
g AU A B

Options:-

-Rs 375/& 375, Option ID :- 4931,

« Rs 495/% 495, Option ID :- 4929,

. Rs 500/% 500, Option ID :- 4932,

. Rs 550/% 550, Option ID :- 4930,
Answer Given:- Rs 550/% 550, Option ID : -4930

Question ID:- 1255

'Deemed to be University is established by

'ghre RyfReneg’ i wmgar fhad grr 6 st g 2

Options:-

.A notification of the Central Government on advice of the UGC/g,Sft.&t. &t TeiTg IR dhvgt TR
&Y srfaga=T grT, Option ID :- 5019,

. A notification of the UGC on the advice of the State Government/Ird TR&R hY TTg TR
g st €. &Y sfdg==m grr, Option ID :- 5020,

. An act of the Parliament/&9e & 1fafaaw grr, Option ID :- 5017,

. An act of the state legislative assembly/rsa faen= g1 & 3iffaw gRr, Option ID :- 5018,
Answer Given:- An act of the Parliament/TiHg & 31f@f@w grr, Option ID : -5017

Question ID:- 1244

Which of the following statements are correct?

A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when producing a document
C. Laser printers use the property of static electricity

D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

fAfaf@a FyEl & snuR ) AR fifsg :
A. TSR fUie’i # g[eeh gl &1 IughT fahar ST gl

B. Te Afea 3iRk dahvte filexl & fAudia dor fiied A gxardst darR = gwg @rdt &1 IuahT gl fFan
STt g1

C. Aor filed d forg R fRega 6 faiwar/qor o1 g gtar 81
D. A9R filex arg # siisi= A9 3R R & Y&H HoT Iu= hed gl
SyHAGRT AT/ @FUT IR & ?

Options:-




.A and C only/&ae A 3R C, Option ID :- 4976,
. A, B and D only/&ae A, B 3fR D, Option ID :- 4973,
. A, C and D only/ahae A, C 3iiR D, Option ID :- 4974,

. B, C and D only/&ha« B, C 1R D, Option ID :- 4975,
Answer Given:- A and C only/&ae A 3R C, Option ID : -4976

Question ID:- 1230

Which of the following are the traits of a competent communicator?
A. Mindfulness

B. Receptive to new information

C. Thinking before acting

D. Should always go by the first impression

E. Be passive to issues around

Choose the correct answer from the options given below:

frafaf@a 7 @ 9 § gam d@ovor & demor g ?
A. Fqar

B. 7€ STt &Y agurfietar

C. ¥ fohar w7t & Uget Iuh aR A HiwAn

D. TR UHTE cht 4T H TGk 3T F&-T

E. 319 - U9 & Hgl & ufa Afeka =

+ oy 7o et A @ 9 IR &1 9ua fifg

Options:-

.A, B and C only/d&ae A, B 3R C, Option ID :- 4917,
. A, D and E only/ahaet A, D 3iR E, Option ID :- 4920,
. B, C and D only/&a B, C 31 D, Option ID :- 4918,

. C, D and E only/aaet C, D 3iR E, Option ID :- 4919,
Answer Given:- A, B and C only/&ast A, B 3R C, Option ID : -4917

Question ID:- 1229

According to Robbins et al, the sequence of communication functions is :
A. Control

B. Motivation

C. Emotional expression

D. Information

Choose the correct answer from the options given below




AT Ta 3= & SITHR HUYUT FHedl T Hal shd FT 8 ?
A. o

B. sffivikon

C. WTaTes SHfRaafh

D. SRRt

H fRw e faereat & 9 9@ IR o1 9 hifog :
Options:-

.A, B, C, D, Option ID :- 4916,

. B,C, D, A, Option ID :- 4913,

. C, D, B, A, Option ID :- 4915,

. D, A, C, B, Option ID :- 4914,
Answer Given:- D, A, C, B, Option ID : -4914

Question ID:- 1219

Match List | with List Il

List | List Il

Institutions Offering Courses Through SWAYAM |Level of Education

A. NCERT I. Post school education

B. IGNOU Il. Undergraduate education
C. CEC lll. Postgraduate education
D. UGC IV. School Education

Choose the correct answer from the options given below:

Tt - 8 g -1l @ A A

Tt -1 It -lI
(@#mmﬂmamﬁaaﬂﬁmaﬁ (Rreror 1 )
HRITY )

|. Tt - IURT
A. g 9t § R & e

Il. 31eR ETdeh
B. g e

lll. SRR
c.dish el
D. g sft <t IV. het fNem
# R 7y fareat & € wd SR gfv:
Options:-

WA-1V,B-1,C-1,D- Il Option ID :- 4875,
«A-IV,B-1,C-IIl,D - I, Option ID :- 4873,
«A-IV,B-1I,C-1ll, D -1, Option ID :- 4876,

«A-1V,B-Ill,C-1,D-Il, Option ID :- 4874,
Answer Given:- A-1V,B-1,C -1l, D - lll, Option ID : -4875




Question ID:- 1225

Match List | with List I

List | List I

Ethical concepts Source

A. Categorical imperatives I. Aristotle

B. Utilitarianism Il. John Rawl

C. Golden mean lll. Immanuel Kant
D. Theory of justice IV. John Stuart Mill

Choose the correct answer from the options given below:

et -1 et -1 @ A R

It -l = -l

(A SraURUNY) (=)

A. et amear l. 3RS

B. Iugifidrare Il. ST A

C. @uf ATl 1. SHFHA i
D. = oh1 g IV. ST gt fae
# R g fareal & € wd SR gl

Options:-

WA-1,B-1I,C-1ll,D - IV, Option ID :- 4897,
«A-1I,B-1I,C-IV,D - 1, Option ID :- 4898,
«A-1ll,B-1V,C-1,D - Il, Option ID :- 4899,

«.A-1V,B-1,C-Il D -Ill, Option ID :- 4900,
Answer Given:- A-lll, B-1V,C-1,D - I, Option ID : -4899

Question ID:- 1238

Name the fallacy committed in the argument.

"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.’

Choose the correct answer from the options given below

MRRumaE I aradwg?
Yt TR TR Ut TR &
tE gl arerq SR T8 81
FafoY o Zet e w78 &

Options:-

.Affirmative conclusion from Negative Premises/aehRIcHeh TR dTeRIT € HehRTeHeh fAwht,
Option ID :- 4950,

. Exclusive fallacy/3rqestes d<h &W, Option ID :- 4951,




. Existential fallacy/sifea=aaves a<h giw, Option ID :- 4952,

. Undistributed Middle/sreame &g, Option ID :- 4949,
Answer Given:- Affirmative conclusion from Negative Premises/aehRIcHeh TR dTeRit @
YehRTcH fAtartf, Option ID : -4950

Question ID:- 1249

In respect of Biochemical Oxygen Demand (BOD), the permissible Indian standard for discharge
of treated effluents in Inland Surface Waters is

SteRTaTafAeR iterfsT 7T (ft o1 €Y) & dey &, MfAq afg: a9 # sl gadl s A sigd &
e urfla a8 ?

Options:-

.15.0 mg/L/15.0 fawm./ <ft. , Option ID :- 4995,
. 30.0 mg/L/30.0 f&r./ #ft. , Option ID :- 4996,
. 5.0 mg/L/5.0 famn./ #ft. , Option ID :- 4993,

. 6.0 mg/L/6.0 fawm./ <. , Option ID :- 4994,
Answer Given:- 6.0 mg/L/6.0 fawm./ #ft. , Option ID : -4994

Question ID:- 1242

In electronic banking, ATM stands for

gAaEi-ch dfchiT & Haiy | § & QH &1 QRT AT T 8 ?

Options:-

.Automated Teller Machine/3ifeties o= #2fi<r, Option ID :- 4966,

. Automated Transfer Money/3ifelR¢s i 74, Option ID :- 4965,

. Automatic Transfer Machine/3ifetifees giawe Axfi, Option ID :- 4967,

. Automatic Transfer Mode/3ifelRfee giehR A, Option ID :- 4968,
Answer Given:- Automated Teller Machine/3ifei#es ¢=® A2fi<1, Option ID : -4966

Question ID:- 1243

Which of the following is a disadvantage of laptop computers in comparison to desktop
computers?

Shelg FReR] Y g1 A Auerd hrgedl il FfafR@a A d s A g i g ?

Options:-

.It has lower power consumption/sa# fasteft it @ua &x gt 21, Option ID :- 4970,

. It has no trailing wires/3aH @his arR fAeret &1 T4 &1, Option ID :- 4969,

. Itis easier to break or steal/g& a1 1 YR TH gia1 81, Option ID :- 4972,

. It is lightweight and self-contained/sHeT a1 &H giaT & 3k ag T@a: gof giar g1, Option ID :-




4971,
Answer Given:- It is easier to break or steal/g® a2 a1 TRIT HTHH gidT g1, Option ID : -4972

Question ID:- 1231
What comes next in this sequence?

1,2,2,4,8,32,?

1 R g srgeRw # Tt e i gt ?
1,2,2,4,8,32,?

Options:-

.128/128, Option ID :- 4923,

. 256/256, Option ID :- 4924,

. 64/64, Option ID :- 4922,

. 84/84, Option ID :- 4921,
Answer Given:- 256/256, Option ID : -4924

Question ID:- 1216

Which of the following is the highest level of teaching?

fA=fafaa A @ 9 a1 S=aan «R o1 fAagorg 2
Options:-

.Memory/@fa, Option ID :- 4861,

. Reflective/fam=ff, Option ID :- 4863,

. Thinking/fia=, Option ID :- 4864,

. Understanding/ats1, Option ID :- 4862,
Answer Given:- Reflective/fawaff, Option ID : -4863

Question ID:- 1239

Consider 'A' proposition as 'True' and 'False’ respectively, in a square of the opposition of
propositions, then which one of the following is correct?

a<h arat & fgda @it & 'A' ad are & s 'w@ ok ea’ A PEfefR@ad @ sl aradi ge @
?

Options:-

.'E' is Undetermined and '0' is False/'E' 3ifAafia & 31iz 'O’ 71e1d &1, Option ID :- 4954,
. 'I'is True and 'E' is False/I' gl & 3R 'E' 7Teid &1, Option ID :- 4956,

. '0'is True and 'I' is False/'0’' &gt & 3R 'I' 17 &1, Option ID :- 4953,

. '0'is Undetermined and 'I' is False/'0' s1fAufRRa & iR 'I' 7Teid &1, Option ID :- 4955,
Answer Given:- '0' is Undetermined and 'l' is False/'0' 3rfAafia & 3R 'I' 711 &1, Option ID : -4955

Question ID:- 1228




Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Communication must include the transfer and understanding of messages and their
meanings.

Reason R: Achieving perfect communication is a technical possibility.

In light of the above statements, choose the correct answer from the options given below

A Q pua Runu & . gk I AHYA (Assertion A) & &9 H 3R gFRT 3T HRUT (Reason R) & &4
"

SfAHYUT (A) : THWoT & T2 3R Ik 31T a1 3iaRUT 3R Gty ey af@fea giar arfgul
@RI (R) : ulRgof HOWOT &1 84 UTGT ST Qeh deh-ilchl HHTEAHT 81
IWRIh HYH1 & 3Tt 7, i Ry Rfeeal & @ 98t IR o1 gga fifSg :

Options:-

.A is false but R is true/(A) Hat gl @ U< (R) €&l &1, Option ID :- 4912,

. Ais true but R is false/(A) 9l g u3=g (R) |al T8I &1, Option ID :- 4911,

. Both A and R are true and R is the correct explanation of A/(A) 3R (R) =t &gl & 3R (R), (A)
& T =TT g1, Option ID :- 4909,

. Both A and R are true but R is NOT the correct explanation of A/(A) 3ii% (R) &< @@l & u== (R),
(A) & st == 78 &1, Option ID :- 4910,

Answer Given:- Both A and R are true but R is NOT the correct explanation of A/(A) 3R (R) &=t
gl § =g (R), (A) & Hg ==t =1gi 81, Option ID : -4910

Question ID:- 1248

Among all recorded species in the world, India accounts for about

fasyg g Reprd Y 7 goft et & @ wra & e fra= genfaai &2
Options:-

«10-12%/10-12%, Option ID :- 4990,

« 15-18%/15-18%, Option ID :- 4991,

« 20-25%/20-25%, Option ID :- 4992,

. 7-8%/7-8%, Option ID :- 4989,
Answer Given:- 15-18%/15-18%, Option ID : -4991

Question ID:- 1241

A spreadsheet is

i d -

Options:-
.Four-dimensional table or grid/=qR - fasfta anferest ar firg, Option ID :- 4964,
. One-dimensional table or grid/qeh - fa=fa arferest aT s, Option ID :- 4961,




. Three-dimensional table or grid/f - fasfia aferenr ar firs, Option ID :- 4963,

. Two-dimensional table or grid/fZ - fasfia arferesr ar firs, Option ID :- 4962,
Answer Given:- Two-dimensional table or grid/fZ - fasfia arferest ar firg, Option ID : -4962

Question ID:- 1220

In a learner-centric approach, a teacher should:

SifHeRdf - dhfga Surm & fAers =t -

Options:-

.clarify concepts by citing examples/3&IgI0T U Tch SAURUNSAT et T AT A1fgQl, Option
ID :- 4877,

. demonstrate inside the classroom/ahell & 3iX ugf= &eeh @@ =f@wi, Option ID :- 4880,

. explain concepts by using adequate support materials/uafta Ggraeh arTft &1 IUTHT Ak
Sraqurvunat 6 =areET s =F1fgyel, Option ID :- 4879,

. facilitate student learning/a13 & S1f T ekt M= =41 =Tf@WI, Option ID :- 4878,
Answer Given:- facilitate student learning/aT= @ 3If97 @t 3T =T T1f@Q 1, Option ID : -4878

Question ID:- 1235
Which of the following statements are correct?

A. If the cost price of an item is Rs.56 and the gain percentage is 20%, the selling price of the
item is Rs.76.2.

B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the selling price of the
item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

ffafad sy «= =R fifsg .

A. af& forelt a¥g o1 a7 56 FUD § 3R 39 UR 20% T4 i &, at 39 a¥g &1 fasha g 76.2 Tud
gl

B. af faheft avq o1 ova e 80 Tud @ 3R I/ da= wR 15% g1 gielt &, &t 39 avg o1 fasha gwa 68
U gl

C. af foreft awg ot 5 Fud F Wiear 6 FUA F ST STAT & At I UR 25% T gier &1
STfH A RT AT/ AFUT TR R/ & ?

Options:-

.A and B only/&ae A 3R B, Option ID :- 4940,

. B and C only/ea«t B 3R C, Option ID :- 4939,

. B only/&as B, Option ID :- 4938,

. C only/hast C, Option ID :- 4937,
Answer Given:- B only/deaet B, Option ID : -4938

Question ID:- 1245




Given below are two statements
Statement I: DRAM consists of a number of transistors and capacitors
Statement II: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the options given below

fatFuafeumgd:

&Y - | : 3 IR ¢ gH # oA gifoieR ofik Suile (huffeR) af@fea gia &
&Y - |l : $) 3R U UH &l TR Reher & Y smagerarn gt &1

IWRIH Yl & sieltes |, 9 Ry g RAereat § @ 98t 3w &1 99+ ffSg:

Options:-
.Both Statement | and Statement Il are false/aH | 3% |l EFT 3/ €1, Option ID :- 4978,
. Both Statement | and Statement Il are true/&¥= | 3R Il g1 9<a &1, Option ID :- 4977,

. Statement | is false but Statement Il is true/&¥= | 37 & , foheg %Y= Il ¥ &1, Option ID :-
4980,

. Statement | is true but Statement Il is false/&y= | € g , fohg Y= Il 3r5T &1, Option ID :-
4979,

Answer Given:- Statement | is true but Statement Il is false/&¥= | 9 & , foheg YA 1l 31 81,
Option ID : -4979

Question ID:- 1236

Match List | with List I

List | List I

A. Vyapti I. An immediate valid cognition of reality due to some kind of sense-object contact

B. Anumana |[ll. A source of knowledge on the basis of the likeness of things

c

Pratyaksha lll. Knowledge of an object due to previous knowledge of some sign or mark

D. Upamana |IV. The universal relation between the middle and major term of inference

Choose the correct answer from the options given below:

Tt -l A e -1l @ A A

SSIRINSURL

A. I. fordt uepR & sf=ary i o SRoT guTy
e [depTet a =

gﬁqﬂ I1. =it Y IH=FTaT & YR WR A &1 Hid

C. 111, foReht Scha a1 G & gd 791 o STUR wR fohelt awg
Ud& [T W

D.

e IV. 3IgAT & &g US 3R I1eg ug & o9 9gad Faw
H= g g fAepeut A @ @t SR glg:

Options:-

«A-1,B-1V,C-lil,D-Il, Option ID :- 4941,




«A-1I,B-1I,C-1,D - IV, Option ID :- 4942,
<A-1II,B-1I,C-1,D - IV, Option ID :- 4943,

«A-IV,B-IIl,C-1,D-Il, Option ID :- 4944,
Answer Given:- A-1ll,B-1l,C -1, D - IV, Option ID : -4943

Question ID:- 1250

Which type of power plants uses the least land per unit of GWh energy production?

fFe uar o faega a7 ufa garg mare der (S ssg o) Swf Iaae & fog aa@ &0 yfa &
IUGNT et & ?

Options:-

.Coal/=rITT, Option ID :- 4998,

. Geothermal/sfardiz, Option ID :- 5000,

. Solar/d1R, Option ID :- 4999,

. Wind/94H, Option ID :- 4997,
Answer Given:- Wind/ga4, Option ID : -4997

Question ID:- 1227

Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:

frafafaa d @ e srenfees Ttwor &t wanfaa e=ar @ 2
A. Gehdl 1 afRgrR

B. 31g29 fawfa

C. G&pfa

D. wiwifores srafeafa

E. Gigf¥erar

H fow 7o et A @ 9 IR &1 gua fifw:

Options:-

.A, B and C only/@aet A, B 3R C, Option ID :- 4905,
. A, D and E only/awa<t A, D 3iR E, Option ID :- 4908,
. B, C and D only/shast B, C 31 D, Option ID :- 4906,
. C, D and E only/&as C, D 3R E, Option ID :- 4907,




Answer Given:- A, D and E only/hast A, D 3iR E, Option ID : -4908

Question ID:- 1240

In which of the following forms of knowledge there cannot be any predication of the object in
terms of the subject-predicate relation?

A=fafEa d @ fha 79 urey & 3829 - fady dey 6 gfe d avg o1 o fadas 7@ gt aopar g ?
Options:-

.Nirvikalpaka Pratyaksha/fRfdereues weaet, Option ID :- 4957,

. Samanylaksana/dTmHT=I&10T, Option ID :- 4959,

. Savikalpaka Pratyaksha/dfaereaes weaeai, Option ID :- 4958,

. Yogaja/aiirst, Option ID :- 4960,
Answer Given:- Savikalpaka Pratyaksha/dfaereaes wegei, Option ID : -4958

Question ID:- 1222

Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. Identified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised
E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

fFrfaf@a 7 @ o= ot asmee 2y 6 fagteang & 2

A. UsT Hh-3WR04 gid 81

B. sifRfufRe ==f &1 aru= v simar 81

C. U1 AThIpd gid &1

D. T ufagsf &1 3R a2T @, At FAsehsT A1 STt @ I=feRzoT foRaT ST gehar 21
E. ATYT &R @9 11 i gidT gl

# fow 7o faement A @ 9 IR &1 gua fifg

Options:-

.A, B and C only/d&ae A, B 3R C, Option ID :- 4885,
. A, C and E only/aha<1 A, C 3R E, Option ID :- 4888,
. B, C and D only/ha«t B, C 31 D, Option ID :- 4886,

. C, D and E only/&as C, D 3R E, Option ID :- 4887,
Answer Given:- A, B and C only/&as A, B 3R C, Option ID : -4885

Question ID:- 1223




Given below are two statements
Statement I: Researchers in history are myth makers.

Statement Il: Various movements in social history- new history - have provided new narratives for
history researchers.

In light of the above statements, choose the most appropriate answer from the options given
below

fatFuafeumgd:

&Y - | : 3fag Muerat Ay - fAafar g &

&Y - || : 9T sfae™ - ¢ sfagra & fafvs srigia=t 3 sfagr Muwmafent & fAv Fv smea™=
IUeTE T gl

IWRIh HYAT & iTeitas J, A Ry 7y et & @ 9& IR &1 auq fifSg :

Options:-
.Both Statement | and Statement Il are correct/ay | 3R 11 €1 @&l &1, Option ID :- 4889,
. Both Statement | and Statement Il are incorrect/er= | 3R Il &1 i &1, Option ID :- 4890,

. Statement | is correct but Statement Il is incorrect/&u= | @&t &, foh=g @Y Il 71 &1, Option ID
- 4891,

. Statement | is incorrect but Statement Il is correct/&u | & &, fohwg Y= 11 | g1, Option ID
- 4892,

Answer Given:- Both Statement | and Statement Il are incorrect/a | 3R Il g1 77 &1, Option
ID : -4890

Question ID:- 1252

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the need for flexibility in the
education system so that students, depending upon their interests and aims, can choose
interdisciplinary, intra-disciplinary and skill-based courses.

Reason R: The majority of Indian higher education institutions have been following a marks or
percentage-based evaluation system, which obstructs the flexibility for the students to study the
subjects/courses of their choice and their mobility to different institutions.

In light of the above statements, choose the most appropriate answer from the options given
below

A Fua Ruau & : g I AHYA (Assertion A) & &9 H 3R gERT 36 HRUT (Reason R) & &4
H:

SfAeRa= (A) : fem gorret 7 a=fictas i 7T ot e J 7@ g e - sutlRa e vorredt (<t <t
€t gH) ol sroATaT @ aifs BT srut sifasfRal ok Ig2dl & IgUR iR - vy, s :fAwaes ok
RIAA ATUTRT UTSTRHAT ehT TG H Jah |

@RI (R) ¥R # stfdenizr I=a fAen dw1g sich a7 ufdera sirenfa gedaicr worredt &1 srgure= &R
T & ; 9 ol &t srut udg & fawat / dxarsit & i I39! nfasfierar & s=fietas & aren st 21




IWRI<H YAl & 3ielas H, i Ry faereul & @ @l 3R &1 9= hifSie .

Options:-

.A is correct but R is not correct/(A) Eig! g U= (R) 6@l =gl &1, Option ID :- 5007,
. A is not correct but R is correct/(A) Egl &I & u==g (R) HW&! &1, Option ID :- 5008,

. Both A and R are correct and R is the correct explanation of A/(A) 3R (R) g4I 9gl & 3R (R),
(A) <hY Tt =ar=ean 1, Option ID :- 5005,

. Both A and R are correct but R is NOT the correct explanation of A/(A) 3fR (R) alH1 4@l & IR=g
(R), (A) &t wigt et =181 g1, Option ID :- 5006,
Answer Given:- A is correct but R is not correct/(A) &gt & =] (R) §at =gl &1, Option ID : -5007

Question ID:- 1254

Arrange the following states in descending order in terms of GER (Gross Enroliment Ratio) in
higher education.

A. Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

I=d fAer & Gt AR S1guTd (Sf § o1R) Y 3R & f=fafRa T=al &t sreRi@t s A <
A. arfaerg

B. &R

C. STRIEvs

D. fafaers

E. fumae uar

H e v faereat & @ 98 IR &1 T fifog :

Options:-

.A, B, D, E, C, Option ID :- 5013,
. B, A, D, C, E, Option ID :- 5014,
. B,D, E, A, C, Option ID :- 5015,

. D, A, E, C, B, Option ID :- 5016,
Answer Given:- B, A, D, C, E, Option ID : -5014

Question ID:- 1234
Given below are two statements

Statement I: The angle between the minute hand and the hour hand of a clock when the clock
shows 3 hours 20 minutes is 25°




Statement II: Between 4 and 5, the minute hand and hour hand of a clock will be coincident at
9

11 minutes past 4.

In light of the above statements, choose the correct answer from the options given below

MR FuReTgd:

&Y - | : i 9t 3 Te1av 20 AT &1 THa garfdl @ at Sadh G Y g3 ofik fame &t g & dfia 25° @
IO 14T g1

9
FUT - 11 : 4 3R 5 & fia 4 aorew | 11 e R adh i w2 i gf ok fAee A g oo ary fAedh
IWRIh Y1 & 3MTeles #, Fi Ry 10 et & @ 9l 3R o1 9u= fifSg :

Options:-
.Both Statement | and Statement Il are false/&ru | 31 Il 4T 3/ &1, Option ID :- 4934,
. Both Statement | and Statement Il are true/&y= | 3iR Il 9T 9 &1, Option ID :- 4933,

. Statement | is false but Statement Il is true/&¥ | 31 §4 g, faheg Y= Il I g1, Option ID :-
4936,

. Statement | is true but Statement Il is false/&Y= | € g , foheg YU 13194 g1, Option ID :-
4935,

Answer Given:- Both Statement | and Statement Il are true/au= | 3fRR Il E=i 9 &1, Option ID :
-4933

Question ID:- 1218

Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

fFrefafaa d @ 9 & ofm & 9o wwrdt R & 2
A. TR Hifa

B. sifwiRom

C. srfanyar

D. sifa=fa

E. ifaes gfaumg

H fRw e faereat & 9 9@ IR o1 T+ hifog :

Options:-
.A, B and E only/&ae A, B 3R E, Option ID :- 4872,




. A, B and C only/&as A, B 3R C, Option ID :- 4869,
. B, C and D only/&a B, C 31 D, Option ID :- 4870,

. C, D and E only/ahaet C, D 3iR E, Option ID :- 4871,
Answer Given:- B, C and D only/d&as B, C 3ilk D, Option ID : -4870

Question ID:- 1247

Protection from Ultraviolet Radiations as envisaged under the Montreal Protocol also contributes
to following SDGs

Aifae metatd d 6 7€ gReea=1 & SIgUR RIS fRAfawor @ e fRafaf@a § @ fra ga &
Sft & oft givre dear g ?

Options:-

.SDGs 10, 16, 17/gq St Sft 10, 16, 17, Option ID :- 4986,

. SDGS 3, 11, 14, 15/ga €t ft 3, 11, 14, 15, Option ID :- 4985,

. SDGs 4, 5, 11, 17/5a € sft 4, 5, 11, 17, Option ID :- 4987,

. SDGs 8, 10, 12/Tq &1 Sft 8, 10, 12, Option ID :- 4988,
Answer Given:- SDGs 10, 16, 17/33 &1 Sft 10, 16, 17, Option ID : -4986

Question ID:- 1232

If seven persons can build a house in 30 days, how long will it take three persons to build the
same house, provided that they all work at the same rate?

gfe gra =< foredt 7ep aht 30 &7 & o1 g &, i1 =aferal 6t 39 g & a9 | fohaa R
i, ard P gt g R A Ff A & ?

Options:-

.100 days/100 f&, Option ID :- 4925,
. 210 days/210 &, Option ID :- 4928,
. 30 days/30 f&A, Option ID :- 4927,

. 70 days/70 f&=, Option ID :- 4926,
Answer Given:- 70 days/70 f&, Option ID : -4926

Question ID:- 1253
Nalanda was established in

Areier Y TATTT e gF ot ?

Options:-

.2 century/Za 2rETeE), Option ID :- 5009,
. 3" century/dT# araredl, Option ID :- 5010,
. 4t century/=iteft 2rared), Option ID :- 5011,

. 5th century/gi=reft 2raT=d), Option ID :- 5012,
Answer Given:- 5t century/ai=rft 2raT<dl, Option ID : -5012

Subject : GP_24NOV_SH2_C




Question ID:- 1259
Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an
organization along with the Male and Female ratio is given.

Regular Employees |Contractual Employees
Departments Total Number slat': Total Number slat':
IT 250 1 |1 [240 2
Accounts 123 2 |1 |130 3 |2
HR 90 3 |2 |30 2 1
Marketing (350 5 |2 |343 5 |2
Production |304 5 |3 |351 5 |4

fAafaf@ea merizr & waFgds ud sk sl & IR S

WA 1 6l STYRUT |aT 85 & ASHIRI & 1ega 9 394 g1 foheg WiaTeTeh 3/ 19T udah
ASTR & fAT Urifes @1 TRt Weiereh 3T @ & @ Y Tg UelT ¥=dT g for oy sy ggafifal &
|1y fAe agr & ik RZugef aagr 7 &1 a=ht gl aa 3= gidl § s1a wdiat # freht
|1 oht WfRfa &A1 uzar @ STafe d i gud waHT Aggd o= @ gid 1 a8 fasnfa wareres
faEmfa wgardt @ ok gg @A & oy gifAeRS gt Gdl 81 FoT, sy ok A9 hHr T=T T S
3idd: WTa-ITeHSh YT giel g 3R afth HIaATHS $U @ gE ST g1 Wi faEfa Samrers
fagmfa & gu= g, Rara 39 fh vrearass fAnfa e & soma yaaren @ gefda gidt &1 e
Tl FreaTET & Yok U ek & ¥4 # MGt S 519 | Hia-neit i arefiedar &t awsr s @i
WIG-TTeHeh 318 ARl & forg gy Icu= aar g1 STl 8 & & A1 hid &1 usdT & g
31T faeTepet Ui 1@l ohed §1 & HehdT 8, 3TU I-Tch Afwhed ! Sqad! A g1 gt Jeven ¢ 6 smu ag
ST gl fah I8 9iudh dis s siTudh IR A ThRIHS a1d dhal 81 §9% dTaS[g, U ASHIR 6l
@rfar 3Tueht 39 @ & a1y fRafdd smuR wR siq:forar &t uzdh 81 safeg smue! Asfiama
Rearar &= ugar @1 fatuerz, afe g ureaTsit @t ergya vimaeeit ar weffa smaemeit & srenT- o
TR Gah Al U YRt 39 AR H TgraaT A« Tardt &1 gy WaAd aafh Y arafde smeaamd
gt €1 39 faudia, weffa ared @ gt & foF S e fonet ot fatw & forg efafRat g~
weffa forg oA hY srden waar @ 3k 3¢ SfAa arar &1 @ siafifga vra=d =g) @<t & ; @ Ph=h o
WY gidt 81 3 TR g7 # | ifQanier b1 s & 6 gw<t foneht aofh & sifow R d 5w
weffa & Y srden it Sl g, Wt & g5 39 afh f gog &t gk effa 7= ar 7 9 aun -
TaRIg d = RRa=t & srden &t sirelt §, v € g9 vaaar Aggd &R a1 9 el MY gg gafd g
&1 Tl UR gg 3rdert i el @ foh g I uaEdn Sk I T S HehRTHS Tdl aht uefafa
T I1RT TUT 34, ehid, &1 3R SraH S ThRTHh HTEl hl &R =T =faul

Which of the following feelings one should feign at a workplace?
A. Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below

& ®d R Rt aafth &t Rafaf@a d @ a9 @ vmasrsi o famar sar =nfge 2




A g

B. 3418

C. SfqH1 =

D. 9g=Adr

TRRe g RFaiAd gt R :

Options:-

.A and B only/&ae A 3R B, Option ID :- 5033,
. B and C only/eaet B 3R C, Option ID :- 5034,

. B and D only/&ae B 3iR D, Option ID :- 5036,

. C and D only/aa«t C 3R D, Option ID :- 5035,
Answer Given:- B and D only/deet B 3R D, Option ID : -5036

Question ID:- 1260

According to the passage, effective emotional labour management involves :

TN & AHFER, YN WTa-TeHeh 319 Ui | a1 afafod giar g ?

Options:-

.Acceptance of emotional dissonance/¥TaaTeHa fadwfa & wierddar, Option ID :- 5037,

. Display of friendly emotions/#sfrguf sma=rait @1 wgafF, Option ID :- 5039,

. Free expression of feelings of frustration/graT &Y Wra=Tail &t 7= sifRaafh, Option ID :- 5038,

. Sidetracking the learned emotions/ 1=t g a3t st uref & T@=, Option ID :- 5040,
Answer Given:- Display of friendly emotions/&3fiquf sra=mait @t u&2f=, Option ID : -5039

Question ID:- 1256
Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is
relevant to almost every job. At the least, your managers expect you to be courteous, not hostile
in your interactions with co-workers. The true challenge arises when employees have to project
one emotion while feeling another. This disparity is emotional dissonance, and it can take a heavy
toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that
emotional dissonance concerns feelings rather than thinking. It is from the increasing importance
of emotional labour as a key component of effective job performance that we have come to
understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work
that you just plain do not like. Maybe you consider their personality abrasive. Maybe you know
they have said negative things about you behind your back. Regardless, your job requires you to
interact with these people on a regular basis. So you are forced to feign friendliness. It can help
you, on the job, especially if you separate emotions into felt or displayed emotions. Felt emotions
are an individual's actual emotions. In contrast, displayed emotions are those that the
organisation requires workers to show and considers appropriate in a given job. They are not
innate; they are learned. Similarly, most of us know we are expected to act sad at funerals,
regardless of whether we consider the person's death a loss and to appear happy at weddings
even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we
should typically express positive emotions like happiness and excitement and suppress negative
emotions like fear; anger; disgust and contempt.




Arafaf@d werizr wt wmgde ud siRusi F IR E

HIaTeHeh 319 il SAUROT Vot & & ASHIRI & gy A 39 g1 foheg WraTeTas 1% & 1w Ul
ASTIR o frT UTifies @1 STkt Weiereh 3T ¥ i T ¥ Ug Ul ¥EdT ¢ foh oy eru ggafial &
a1y fAe aagr &R iR fAZuygef agagr 9 &3 a<dt gt aa Ia= gl g S1a adarfal ot feh
WTGT oht WEfRfa &A1 uzar ¢ STafsh d i gud WaHT Ag9d o @ g4 &1 a8 fasmfa waseres
=t wgerdt @ ok ag @A & fog gifeRS & G&d! 81 FoT, sty iR v HY a7 v |
3idd: WG YT gicl § 3R aafth WIaATHs $9 9 gE SIET g1 Wia-TeTeh fAEfa Samrers
faanfa & gum= &, e 39 o e fadnfa Riaa & aoma aegarsei @ Sefaq gidt &1 wareh
& FaTE & Yok UHE ek & $U | MGG 519 J Hia-neil f arefiaar & a9 s gl
WG 317 HeaTRal & forg gfarer Iaa= war g1 traeh! 8/ @RIl & |19 i &1 9=d1 & g
31Ty feighet Ui T8l Xd &1 & Hehell @, IHTT ITch Afvhed ! gl AT g1 gt Fapell g fF oima ag
ST gl foh 3817 stmudh tis tis simudh IR # TRRTES a1d Tel 81 39 dTaS]g, 31U+ ASHIR &
@rfar 3mueht 39 @ & 1Y fRafAd snuR wR sia:fohar &t ugdt 81 safeg smuet Asftvra
Rraran e g @1 RAgtvenz, afd s wra=Tsht &Y srgya wraeedt ar weffa wramTeit # sremt-arem
TR Hoh dl THE UG U+ ASHIR H AgraaT A Fapelt &1 S WIEHTY aAfwh 6 arafde weaamd
gt €1 39 faudia, weffa are=d @ gt & O i e et o faetw & forg et g=r
weffq forg oA R srden w@ar @ 3k I 3fRd aar @1 @ siafifgd ywra=d gt gt & ; @ D=
HIGATY giddt 81 %t U g7 # & sifdarier i s g 6 gwet foret aofvh & siffr R d 5@
weffa e Y srden i sireh &, W & g9 39 afh f g &t g afa aF ar 7 |39 aur adh-
R # v fRg? i srdanm fY St 8, W @) g7 uAaT HggE AR AT A w1 My Tg Efd & fh
& R IR gg rae &t Sl & foh g amr=aa: uaEdan SR I S ehRIcHe UTdl ol weffa
AT TIRY TUT ¥, 2hid, &l 3R SaH S TehRTeHeh HTdl ol &fAd =T =anfaul

The basic principle of emotional labour management is:

VTEHITH 319 HeeH 1 gRardl Rigia 2 :

Options:-

.Be less hostile to other employees/31=a sefaiRat & ufa @ fAgw T@=m, Option ID :- 5021,
. Be polite to co-workers/ggerfifal & ufa fa=ra Tg=m, Option ID :- 5023,

. Do not show your frustrations/31a=ft garaii @t waffa =1 &=, Option ID :- 5024,

. Entertain only limited interaction within the organization/Ta+ & ez dhae Hifaa sia:ferar
T, Option ID :- 5022,

Answer Given:- Be less hostile to other employees/3r=a sef=ariRal & ufa &a faZw w@=, Option ID :
-5021

Question ID:- 1258
Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is
relevant to almost every job. At the least, your managers expect you to be courteous, not hostile
in your interactions with co-workers. The true challenge arises when employees have to project
one emotion while feeling another. This disparity is emotional dissonance, and it can take a heavy
toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that
emotional dissonance concerns feelings rather than thinking. It is from the increasing importance
of emotional labour as a key component of effective job performance that we have come to
understand the relevance of emotion in every field.




Emotional labour creates dilemmas for employees. There are people with whom you have to work
that you just plain do not like. Maybe you consider their personality abrasive. Maybe you know
they have said negative things about you behind your back. Regardless, your job requires you to
interact with these people on a regular basis. So you are forced to feign friendliness. It can help
you, on the job, especially if you separate emotions into felt or displayed emotions. Felt emotions
are an individual's actual emotions. In contrast, displayed emotions are those that the
organisation requires workers to show and considers appropriate in a given job. They are not
innate; they are learned. Similarly, most of us know we are expected to act sad at funerals,
regardless of whether we consider the person's death a loss and to appear happy at weddings
even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we
should typically express positive emotions like happiness and excitement and suppress negative
emotions like fear; anger; disgust and contempt.

Arafaf@e merizr wt wegde o siRusif F IR E

HTaTeHeh 319 il SAUROT TaT & & ASHIRI & g 9 39 g1 foheg WTaTeTah 19 & T Ul
ASTIR & forT UTifes @1 STkt Weiereh ST ¥ & T ¥ Ug UElT ¥EdT ¢ foh oy eru ggafifal &
a1y fAe aggr R ik RAZuygef agagr 9 &3 g<dt gt aa Iaa= gt g s1a adaial ot faeeh
HTGT oht wf2fa &A1 ugar @ STafeh 3 id gEd vraT Aggd = @ gl ¢ 1 g8 fasnfa warees
=t srgerdt @ 9k ag WA & fog gifieR® g &d! 81 FoT, st iR A HY a7 v |
3idd: MIGHTS Y gidl ¢ 3R aafh WIaHTeTS ¥ | g STdT 81 Mg [amfa dareesh
faanfa & gur= &, e 39 O T fadnfa Riaa & aoma areersei @ Sefaq gt &1 warh
& T & Yok UHE ek & $U | MGG 519 | HIa-msil f arefierdr & s s gl
WG 17 HHaTRal & forg gfawr Iaa= wdar g1 gl 8/ @Rl & A9 i &1 9=d1 & g
31Ty faeigpet Ui I81 ed &1 & Hehell @, 3T ITch Afvhed ol gl AT gfI gt "apel g fh oima ag
ST gl foh 3817 stmuch tis tis simudh IR # TRRTES a1d Tel 1 39 dTas]g, 31U+ ASHIR &Y
@ifaR 3MUeht 541 NN & 91y AafAd snur wR sia:fohar et usdt 81 safere smuent dsfiyre ahr
Rramar &ear uzan 1 fatuas, afy sma wraensit &t srgya vraeaH o veffa sraareit J srenT- e
TR G Al THE TUHT 3107 AR A Heradr e Fadl g1 Ig¥d WIa=g aafh & arfae weaag
gt €1 39 faudiq, weffa wre=d @ gt & O s e et o faeiy & forg =it g=r
weffq fohg SR R srden w@ar @ 3k I 3R aar @1 @ siafHfga ywra=d 3¢ @<t € ; @ St
WG] gt 81 3%t uahR gx & | sifdanier i s & o6 gwt foneht aofh & oifow dR d g
weffd & Y srden fit Sl @, Wt @ g6 39 cafh f gg & g afa 7 ar 7 A aun -
R # v RRa it srdam f St 8, W @) g7 uuAar HggE R AT A R My Ag arfd @ fh
Y Tl IR gg 3rden hY STl @ fF g/ g uaEdn 3k I S GRS UTE! ot ueffd
AT TIRY GUT ¥, 2hid, &1V 3R SaH S TehRTeHh MTdl hl &fAd =T =anfaul

In a workplace environment, labour managers should give preference to:

&1 TAA & araTeRoT J 9 Ueeeh! &t Rfaf@a d 9 fFd mrufesar i =nfge 2
Options:-

.Displayed emotions/weffa wra=maii al, Option ID :- 5029,

. Expressions of frustrations/ga13il &t sifreafwh at, Option ID :- 5032,

. Felt emotions/31g3d {ra=T3Hl @l Option ID :- 5030,

. Negative emotions/TehRTeHer WTa=T3H <ht, Option ID :- 5031,
Answer Given:- Displayed emotions/weffa wra=maii @l, Option ID : -5029

Question ID:- 1257

Please read the passage and answer the following questions.




The concept of emotional labour emerged from studies of service jobs. But emotional labour is
relevant to almost every job. At the least, your managers expect you to be courteous, not hostile
in your interactions with co-workers. The true challenge arises when employees have to project
one emotion while feeling another. This disparity is emotional dissonance, and it can take a heavy
toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that
emotional dissonance concerns feelings rather than thinking. It is from the increasing importance
of emotional labour as a key component of effective job performance that we have come to
understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work
that you just plain do not like. Maybe you consider their personality abrasive. Maybe you know
they have said negative things about you behind your back. Regardless, your job requires you to
interact with these people on a regular basis. So you are forced to feign friendliness. It can help
you, on the job, especially if you separate emotions into felt or displayed emotions. Felt emotions
are an individual's actual emotions. In contrast, displayed emotions are those that the
organisation requires workers to show and considers appropriate in a given job. They are not
innate; they are learned. Similarly, most of us know we are expected to act sad at funerals,
regardless of whether we consider the person's death a loss and to appear happy at weddings
even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we
should typically express positive emotions like happiness and excitement and suppress negative
emotions like fear; anger; disgust and contempt.

Arafaf@d menizr wt wegde o siR usif & IR E

WTaTeHeh 319 il SR V4T & & ASHIRI & g A 39 81 foheg WTaTeTah 19 T Ul
ASTIR & fOrT UTifes @1 SITUehT Weiereh 3T ¥ < ¥ ¥ Ug Ul ¥E=dT ¢ foh oy eru ggeafifal &
a1y e eraeR & ok RZuguf saaer 7 &3 g=h T aa Iea= gt @ sra afarial @ At
HTGT ol UfAa e uzan @ Stafeh & &lg gEd WIa=T 79 o 36 gid 81 a8 fasnfa wraarers
et rgerdt @ ok ag @A & fog gifieRS g &d! 81 FoT, st iR A HY a7 W |
3iad: MGG Y™ gidl ¢ 3R aafh WIaHATS ¥ | g STdT 81 Mg [amfa Sareesh
fagnfa & gu= &, e 39 5 e fadnfa Riaa & aoma e @ Sefaq gt &1 warh
& T & Yok Ui ek &h $U | MGG 519 J HIa-msil f arefierdr &t a9 s gl
WG 19 HeaTRal & forg gfaur Iaa= wdar g1 siTaehl 8/ @Rl & A9 i &1 9=dT & g
31Ty faeighet Ui T81 ed &1 & Tehdll @, IHTT I+Tch Afvhed ol gadl AT g1 gt apell g fh oima ag
ST gl foh 381 simuch tis tis siudh IR # TRRTES a1d Tal &1 39 dTas]g, 31U ASHIR &Y
@ifaR 3Ueht 391 NN & 91y FafAd snur wR sia:fohar et usdt 81 sufere smuent dsfiyre ahr
fearar &= uzar @1 fasiuerz, afe ema vraaTstt &t ergya vira=meit ar ueffa wrammei & srernT-arenT
TR G d 3HQ MTUh! U AR # Hgradar e dendt 81 gy Wra-g aafs &Y arafas wreamg
gt €1 393 fAudq, weffa wre=d @ gt & O s e et o faeiy & forg =it g=r
wefafa forg oA it srden w@ar @ ik I SfAa ar=ar 81 @ siafifRa wraa]d 78 &<t & ; 3 fi<ht
HTIGTY gidt 81 3%ft U g7 # @ sifdepier i S g 6 gw«t foredt aofvh & siffr TR A 5@
weffd e Y srdan it Sl @, Wt @ g7 39 aafh f gg & gk effa 7 ar 7 A aun -
R # yaa R i srden Y St 8, W @ g uAaT g R AT A R My Ag EAA & fh
S Tl IR gg 3rden Y STl @ foh g/ I gaEdn 3R I S GRS UTEl i ueflfd
AT AIEY TUT W, hidd, 1N 34 SGHT S AhRIHh UGl ahi &R AT AMRTI

Within an organization, emotional dissonance affects

foreht Twrea | vTaTeHeR fagfa ford wanmfaa et @ 2

Options:-

.Cognitive consonance/&HHTHTHa 3J=udI, Option ID :- 5025,

. Constructive thinking/Ta-Tetes a1, Option ID :- 5028,

. Effective job performance/sreft @ fAsare, Option ID :- 5026,




. Solutions to labour issues/s™ 11@ Rl GHTYTH, Option ID :- 5027,
Answer Given:- Effective job performance/ardt ehrf fAsares, Option ID : -5026

Subject : LIS_SHAAN_NOV21A

Question ID:- 68

Match List | with List Il

List | List Il

Author Source

A. A. K. Das Gupta I. The Rise of Current Composite Bibliography
B. AM Lewin Robinson [Il. An Essay in Personal Bibliography

C. T. Besterman lll. Systematic Bibliography

D. Le Roy Harold Linder|lV. The Beginnings of Systematic Bibliography

Choose the correct answer from the options given below:

Tt - 8 g -1l @ A A

gt -l Tt -l

(=) (Ft) ;

maﬁq II. T QR & ueirer Rfeaifaird)
C. & SemA 1. Renfes fafsrsmarht

D. @ < e RrR |V.aﬁ1ﬁ1§¥%‘fmm

H2 Ry g faereat & @ vt SR gfAg:
Options:-

«A-1,B-1ll,C-1IV,D-ll, Option ID :- 270,
«A-1I,B-1,C-1l,D - IV, Option ID :- 271,
«A-Il,B-IIl,C-1V,D -1, Option ID :- 272,

«A-1ll,B-1IV,C-1,D-Il, Option ID :- 269,
Answer Given:- A-1l,B-1,C-1ll, D - IV, Option ID : -271

Question ID:- 9
Who devised the "Role Based Model of Digital Reference" ?

"fafSiee I & yfaenr snuRa Aared” & ufaurees S- § ?

Options:-

.G. G. Chowdhury and S. Chowdhury/Sfl. Sft. =terdt ve T9. =terdt, Option ID :- 36,
« J. M. Wasik/S}. Ta. aif@eh, Option ID :- 34,

« M McClennen/q#. Aaret=I, Option ID :- 35,

« R. D. Lankers/31R. €Y. &, Option ID :- 33,

Answer Given:- G. G. Chowdhury and S. Chowdhury/sft. Sft. @itert va g4. =itest, Option ID :

Question ID:- 57

Identify open source library automation software




A. OPALS

B. LIBRARIAN
C. KOHA

D. Evergreen ILS

Choose the correct answer from the options given below:

fA=fafaa 9 @ oids 9 arss) smeee aivedwR 6 uga™ fifsg :

A. 3itued

B. sirgsifRaa

C. et

D. garefi= a1t ge gH

TR RAFaiAd gt R :

Options:-

.A, B and D only/&ae A, B iR D, Option ID :- 228,
. A, B and C only/<haet A, B 3R C, Option ID :- 225,
. A, C and D only/aha«t A, C 3R D, Option ID :- 227,

. B, C and D only/&a« B, C iR D, Option ID :- 226,
Answer Given:- A, C and D only/&ad A, C 3R D, Option ID : -227

Question ID:- 81

Arrange in sequence the following books authored by S. R. Ranganathan in order of their first
publication.

A. Documentation Genesis and Development
B. Library Manual

C. Classified Catalogue Code

D. Prolegomena to Library Classification

Choose the correct answer from the options given below

QH. R, FF1YA gRT faf@a Freafaf@a geaa! &t 396 aud g avf & SgaR sFaR afed &

A. sTagHeM SR Uz Saaude
B. @TgsRY Agare

C. FIAGIZS hedllT &g

D. WA= g ATgsit aefafthche




TRRe g RAeFai A d gt TR :
Options:-

.C, B, D, A, Option ID :- 324,

. C, D, B, A, Option ID :- 321,

. D, B, C, A, Option ID :- 323,

. D, C, B, A, Option ID :- 322,
Answer Given:- C, D, B, A, Option ID : -321

Question ID:- 33

A researcher "X" published 5 manuscripts. Arranging the manuscripts in the descending order of
their citations, the sequence of the citations appears as 21; 15; 13; 3; 2. What will be the h-Index
of the researcher?

SITHYTIRAT "Ta" 3 Ut gwafaiftal st 39k IERUT & STeRIE shH A TEd g wentfa b, afk
IEXUT &1 3RH 21; 15; 13; 3; 2 Ul gidT & at SRl ol Ud. 399 T ghIT ?

Options:-

.2 / 2,0ptionID :- 132,
.21 / 21,0ptionID:- 131,
.3 / 3,0ptionID :- 130,

.13 / 13, Option ID :- 129,
Answer Given:-3 ; 3, OptionID:-130

Question ID:- 14

Who said, "a number of basic human needs can be identified from the social and psychological
functions of the mass media"?

g YA e ¢ ? "ara Fit giardt smaaswarsit & & it ugar s9 9R & amifeie iR
AT Sl © 98 ST Yehell 1"

Options:-

.E. Katz, M. Gurevitch and H. Haas/%. @1, GH. TRfa= 3R ga. g19, Option ID :- 55,

. M. Sandelowski and H. Haas/q#. Ga3«itawht 3k T4. g9, Option ID :- 54,

. Sull H. Lee and Celia Hales Mabry/a« Ta.f1. 3R afersm &« #1adt, Option ID :- 56,

. William Katz and Bill Katz/faferas arrest 3R faet avtest, Option ID :- 53,
Answer Given:- William Katz and Bill Katz/faferasw et o fae1 aiest, Option ID : -53

Question ID:- 24

A device that interconnects two or more networks and selectively interchanges packets of data
between them is known as




Qeh SUHRUT St &1 a1 3ifdieh Aeaeht ol 3Tuw H Sitsdr @ 3R 3+ch i s1er ddhe wafRa ®9 & 3iar -

Options:-

.Gateway/7ed, Option ID :- 94,
« Hub/gd, Option ID :- 95,

. Router/q13<x, Option ID :- 96,

. Switch/f&1, Option ID :- 93,
Answer Given:- Router/313ez, Option ID : -96

Question ID:- 78

Arrange the following e-learning initiatives related to higher education in India in chronological
order:

A. SWAYAM MOOCs
B. e - gyan kosh

C. e - PG Pathshala
D. NPTEL

Choose the correct answer from the options given below

WRd § I=aar e @ H@a&6fda € - afin yart & wreasrargaR aaf@a & :
A. g9 g
B. § - STRIT

C. $ - Y Sft ursme

D.gAft & § gt

TRRe g RAFai A d gt R :
Options:-

.A, B, C, D, Option ID :- 309,

. B,C, D, A, Option ID :- 310,

. B, D, C, A, Option ID :- 311,

. C,D, A B, Option ID :- 312,
Answer Given:- A, B, C, D, Option ID : -309

Question ID:- 56

Which of these are based on Linux?
A. Fedora

B. Solaris

C. Ubuntu

D. Debian

Choose the correct answer from the options given below:




feafaf@ad @ s fag R snaRa & ?

A. her
B. @ieiRa

C.3ag
D. =

2 Ry g el @ T WA -

Options:-

.A, B and D only/&aet A, B iR D, Option ID :- 224,
. A, B and C only/haet A, B 3fR C, Option ID :- 221,
. A, C and D only/aha«t A, C 3R D, Option ID :- 223,

. B, C and D only/&ha B, C 3R D, Option ID :- 222,
Answer Given:- B, C and D only/&ae B, C 3k D, Option ID : -222

Question ID:- 22

Which among the following is NOT a 'Process Theory' of motivation?

f=fafaa 7 @ i sif ko o' uferar Rgia' a8 g ?
Options:-

.Content theory/fawa a¥g f&gia, Option ID :- 87,

. Equity theory/ssaT @1 f&gid, Option ID :- 88,

. Expectancy theory/weansm =t fAgid, Option ID :- 85,

. Goal-setting theory/s1ea fRufRur Rgiq, Option ID :- 86,
Answer Given:- Equity theory/awaT @1 f&gid, Option ID : -88

Question ID:- 79

Arrange the steps of the "Digital Reference Model" derived from Lankes (1998) and Virtual
Reference Desk Project (1998) in the correct sequence

A. Triage

B. Experts Answer Formulation
C. Tracking

D. Question Acquisition

E. Resource creation

Choose the correct answer from the options given below




- gIRT ufaarfea "fRfStes Yww Aisa” (1998) d fAsjere Ywde 3% Uistae (1998) & fafda avon
ol 9gl s | eId

A. TIEest

B. ToRIUE IT-ER rRfeAR

C. efdhm

D. TRy TaiSiiE

E. Reid fordam

TR RAeFaiAd gt R :
Options:-

.A, C, B, D, E, Option ID :- 313,

. C,D, B, A E, Option ID :- 314,

. D, A, B, C, E, Option ID :- 316,

. E, B, C, A, D, Option ID :- 315,
Answer Given:- E, B, C, A, D, Option ID : -315

Question ID:- 8

According to UNESCO, what is the slogan for the World Book and Copyright Day 2020 observed
globally?

AR & ATER a9y g ok ufaferenfaer Raw, 2020 st QR Ay & w=rar war, ARt =T 8 ?

Options:-

.Books : A Window into the World during COVID-19/q&Ta : &ifds - 19 & SR fasy &t 3@ &r
R, Option ID :- 30,

. Books are for Use/q&idh 3udiT & foig g, Option ID :- 31,

. Globalisation of Reading Material during COVID-19/ehtfas - 19 & R s Arft ahr d=fiemzor,
Option ID :- 32,

. Improve the Reading Habit/ga+ &Y sired # GUR &, Option ID :- 29,
Answer Given:- Books : A Window into the World during COVID-19/q%4s : &ifds - 19 & sk fay
@t @+ T FIRET, Option ID : -30

Question ID:- 74

Match List | with List Il (Match the digital library initiative with the institution involved during their
inception/creation) :

List | List Il

A. Alexandria Digital Library|l. Cornell University

B. arXiv Il. University of California

C. Universal Digital Library |[lIl. University of lllinois

D. Project Gutenberg IV. Carnegie Mellon University

Choose the correct answer from the options given below:

g -1 6t g -1l @ gAfera fifSg:




T -l Tt -1l
A. Sretotizar fafted argst 1. R gRafié

B. 3IRfRIE 1. gfRafEE st hiermifrar
C. gfgdw RS args [l gfRafid o sfomtsa
D. Histere fe-ant IV. Tt A gfAafed

M= fog g faereat # @ @@t SR gAT:

Options:-

A-1,B-Il,C-1ll,D -1V, Option ID :- 293,
<A-Il,B-1,C-IV,D-Illl, Option ID :- 295,
«A-lll,B-II,C-1,D-IV, Option ID :- 294,

.A-IV,B-IIl,C-1,D-1I, Option ID :- 296,
Answer Given:- A-1l,B-1,C-1V,D - lll, Option ID : -295

Question ID:- 77

As per APA Reference Style (6tMed), for a journal article, which sequence of bibliographical
elements is correct in the context of reference structure?

A. Author of the article
B. Title of the journal
C. Title of the Article
D. Year

E. Pages

Choose the correct answer from the options given below

ufAehT SiTetE & [ ¢ ft ¢ 30 wrde (ST H¥anun) & IR e a1 & UET J T-uTe e aval
1 hi AT shH 9@l 8

A. A & AEwh

B. uf3ent o1 2ftfer

C. 3rreta ot fidfen

D. af

E.gs

TR Ry Reaidda@ R

Options:-
.A, B, C, D, E, Option ID :- 306,

. A C,B,D,E, Option ID :- 308,




.A D, B,C,E, Option ID :- 307,

. A D,C,B,E, Option ID :- 305,
Answer Given:- A, D, B, C, E, Option ID : -307

Question ID:- 21

Who authored the book Practice of Management?

' AfeReE Sifth A-STHe’ ATHS Y&Ich & dach dIF & ¢

Options:-

.Frederick Taylor/thfgeh 3R , Option ID :- 84,

. Henry Fayol/g=¥t %alet, Option ID :- 83,

. Henry Mintzberg/g=%t fiestart , Option ID :- 82,

. Peter Drucker/diez gav , Option ID :- 81,
Answer Given:- Peter Drucker/dYex gee , Option ID : -81

Question ID:- 59

An invitational metadata workshop organised at Dublin in 1995 and treated as the birthplace of
contemporary metadata, was sponsored by

A. National Centre for Super Computing Application (NCSA)
B. Institute of Electrical and Electronics Engineering (IEEE)
C. Online Computer Library Centre (OCLC)

D. International Electrotechnical Commission (IEC)

Choose the correct answer from the options given below:

Ty 1995 & saf= # Ueh SITHUT ASTSTET ShIARMAT Rl TAIST fohaT T AT AT IQ dhifel AersTer
T STFHRIT HIET T49T IYhT TS ___ ZIRT fohar T am)

A. A HeR R YuR FfeT giteche T (T Ht ga Q)

B. $xdieye i SR (s saagiRa SoffaR (am§ § §9)
C. 3 T3 FrgeR ergst Fex (34t #ft ger #f)

D. TR SRR Neher dwiierT (arrd £ oY)

= Ry g fApeat A @ w@ SR A -

Options:-

.A and C only/&has A 3iR C, Option ID :- 234,

. A and B only/@haet A 3R B, Option ID :- 233,

. B and C only/ea«t B 3R C, Option ID :- 235,

. B and D only/<haet B 3R D, Option ID :- 236,
Answer Given:- A and B only/ehae A 3iiR B, Option ID : -233




Question ID:- 64

Which of the following are related to AGLINET?

A. AGLINET is a voluntary network of agriculture libraries around the world
B. AGLINET is consortia of agriculture university libraries of India

C. AGLINET centres provide partner libraries with access to the literature originating in the
country or the region

D. AGLINET is a national network of agriculture libraries in India

Choose the correct answer from the options given below:

Frafaf@e 4 & - &9 'Treliie @ @dfda g ?

A. ¢ fagy A Y fRAm= deaeht qeaenreal &1 'gfiene @fde dead

B. 'grefiie’ WRd & Y fayfenea & qeawreral o1 sanffar gi

C. 'Treiie R Ggunft geaarreral ZRT 221 7 iy fonedt &t & & oI 3@ Aifgey ol Iuetee awrdr
D. 'TeFe’ IR # i qraarTerdl &1 AL Aeadh gl

A Ry o RAepreal § S w@ WA -

Options:-

.A and D only/&ae A 3iR D, Option ID :- 254,

. A and C only/dwaet A 3iR C, Option ID :- 253,

. B and D only/<ka<t B 3R D, Option ID :- 255,

. Cand D only/dae C 3R D, Option ID :- 256,
Answer Given:- A and D only/&ae A 3iiR D, Option ID : -254

Question ID:- 34

A publisher offers free access to articles for a week's or a month's time. Under which Open
Access (OA) License will the accessibility option fall?

Uk RN ARGl ohl {U # UgH o fIY Yah |TdTg a1 Uoh ATg &1 9879 a1 g1 fha oitd=r s (81i)
1389 & sidrfa sifmrar (Taddfaferdl) a1 faere smgam 2

Options:-

.Bronze OA/sitSt 3t @, Option ID :- 134,

. Golden OA/M<2+ 3it @, Option ID :- 135,
. Green OA/ifiF 31t @, Option ID :- 133,

. Platinum OA/wifé=w 31t @, Option ID :- 136,
Answer Given:- Golden OA/te2+ 3it §, Option ID : -135

Question ID:- 30

The first virus recorded, the Creeper virus was written by

IR TR & T F <t ugdr arRy fFad gr foar mar ar ?




Options:-

.Bob Thomas/dTa um™d , Option ID :- 117,

. Fred Cohen/t%hs ahig+T, Option ID :- 120,

. Martin Hellman/sfé&s g9, Option ID :- 119,

. Whitman Diffie/<grge @4 f2iY, Option ID :- 118,
Answer Given:- Fred Cohen/ths @hlg=T, Option ID : -120

Question ID:- 76

Arrange the following software according to their year of origin in chronological order :
A. DSpace

B. EPrints

C. GSDL

D. Omeka

Choose the correct answer from the options given below

Aafaf@a aivedar & 76 Iuf FemagaR afR@a & :
A g

B.  fiiew

C.sigadiga

D. it

= g g fAepeui A @ W@ SR A -

Options:-

.A, B, C, D, Option ID :- 304,

. B, C, D, A, Option ID :- 303,

. C, B, A, D, Option ID :- 301,

. D, A, B, C, Option ID :- 302,
Answer Given:- B, C, D, A, Option ID : -303

Question ID:- 16

"Reference and User Services Association" is a division of:

Y U gurd afddw g fohaar yvmr g ?
Options:-
.American Library Association/3mfRer #rgs¥} g&ifgaE, Option ID :- 62,

. Association for Information Science and Technology/TEifaTE HiR SHHI TS Us
eHIetstt, Option ID :- 61,

. Medical Library Association/AfSeret @it Taif@gem, Option ID :- 63,




. Society of American Archivists/HHTaél 3itth 3R srepfgfaes, Option ID :- 64,
Answer Given:- American Library Association/3mRer=T Tt TaifAgare, Option ID : -62

Question ID:- 44

Identify Mac Operating System of Apple
A. Sierra

B. Mojave

C. Catalina

D. Debian

E. Big Sur

Choose the correct answer from the options given below:

QU & Ak SHTORFET yomedt it uga &%

A. R

B. #taia

C. et

D. 3fer=

E. frr gz

# fow 7o et A O G IWR &1 9ua fifw

Options:-

.A, B, C and D only/dwa<1 A, B, C, D, Option ID :- 173,
. A, B, C and E only/d&as A, B, C, E, Option ID :- 176,
. A, C, D and E only/aha« A, C, D, E, Option ID :- 174,

. B, C, D and E only/&has B, C, D, E, Option ID :- 175,
Answer Given:- B, C, D and E only/&a« B, C, D, E, Option ID : -175

Question ID:- 39

Which princely state passed Public Library Act prior to independence?

et & gd Fafaf@a & @ fra 2=:ft Raraa 3 ardsifa geeea sifafas afka forar o ?

Options:-

.Hyderabad/g&zTamg , Option ID :- 156,
. Kashmir/ar2#i® , Option ID :- 155,

. Kolhapur/@&iegrgr , Option ID :- 154,

. Rajputana/ITSTgdr=T , Option ID :- 153,
Answer Given:- Kolhapur/@iegTqz , Option ID : -154




Question ID:- 23

LibQUAL+ is a web-based survey offered by:

frgerarer + a9 snenfka gderur g, st gRIweH hr ot g :

Options:-
.Association of Research Libraries/T@fgaM i Ryt smgas, Option ID :- 90,
. College and Research Libraries Association/eietst Us Ra drgsi¥ist gaif@gamM, Option ID :- 89,

. Library Administration and Management Association/TgsiRt TefRfAetam v Adwe guifaum,
Option ID :- 91,

. Special Libraries Association/T2re eiTgsisT gHf@w=M, Option ID :- 92,
Answer Given:- Special Libraries Association/T2reT ATgs st g&EHfATE, Option ID : -92

Question ID:- 75

Match List | with List Il

List | List Il
A. Screen Magnification Software|l. Microsoft Narrator
B. Screen Reading Software Il. Vaachak

C. Speech Synthesizer Software |[lll. Megadots
D. Braille Translation Software [IV. ChromeVis

Choose the correct answer from the options given below:

ot -1 g -1l & e ife

gt -l Tt -l

A. BT st SRR IR
B. whi Af3 AivedwR Il. arash
gﬁ;ﬁwqﬁﬁw(@aﬁﬁﬂm I, Amretew
D. sieT 31gdTE |itedar IV. shrefas
# R g fareal & € wdl SR gfw:

Options:-

«A-Il,B-1ll,C-1V,D -1, Option ID :- 297,
«A-1lI,B-IV,C-1,D-Il, Option ID :- 298,
«A-1V,B-1,C-IlI,D -l Option ID :- 299,

«.A-IV,B-Il,C-Ill,D-I, Option ID :- 300,
Answer Given:- A-1V,B-1,C-1l, D - lll, Option ID : -299

Question ID:- 61
Who among the following were members of the Advisory Committee for Libraries (1957)?
A. B S Kesavan

B. S R Ranganathan




C. P N Kaula
D. A P Srivastava
E. D R Kalia

Choose the correct answer from the options given below:

Fafaf@a d @i - #19 g wmefesh affa (Advisory Committee for Libraries) (1957) &
g 4 :

A. ft.og. Faaa

B. Q. 3R. JETIAUT

C. !t. g9. &ter

D. €. t. sfraraa

E. 3. 3. srferar

R Ry Reaidda@ R

Options:-

.A and C only/haet A 3fiR C, Option ID :- 242,
. A and E only/&ae A 3R E, Option ID :- 244,
. A and B only/dwae A 31k B, Option ID :- 241,

. B and D only/&ae B 3iR D, Option ID :- 243,
Answer Given:- B and D only/deet B 3R D, Option ID : -243

Question ID:- 72

Match List | with List Il

List | List Il

MARC Tag|Field

A. 020 tag [I. Marks: a personal name main entry (author)

B. 100 tag |Il. Marks the physical description

C. 300 tag |lll. Marks a personal name added entry

D. 700 tag |IV. Marks the International Standard Book Number (ISBN)

Choose the correct answer from the options given below:

Tt -1 8 g -1l @ A A

e -l (g -
3Tk &) | (&)

g&ozo |. Fafohes AT = ufaf® (Gaw) &t qafar g1

;100 II. wifrer qufT @t garfaT 21
C.300 [lII. Saferes A1 3a= ufafe =t rfar 21




&

D. 700 |IV. S=RI¥H AFah U= TE=AT (3118 TH &t T) aht
cul gorfar 21

H=2 fRg g faereat d @ wdt SR g

Options:-

A-1,B-Il,C-1IV,D-Ill, Option ID :- 288,
<A-I,B-1ll,C-1,D-IV, Option ID :- 287,
«A-IV,B-1,C-Il,D-Illl, Option ID :- 285,

.A-IV,B-I,C-1,D-Ill, Option ID :- 286,
Answer Given:-A-1I1l,B-1ll,C-1,D -1V, Option ID : -287

Question ID:- 86

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: e-Granthalaya can be customised by the library.
Reason R: Libraries opting for e-Granthalaya have to pay NIC for hosting, maintenance etc.

In light of the above statements, choose the correct answer from the options given below

TR A FRuaw g : g il wy= (A) & wu A fof@a & af gor Sudh &RuT R) h & # .

SMfHHUA (A) : g RT § - g Dl ATghlchd (FEeHTSSIM) foRaT ST Tehar 81

&ROT (R) : & - qearera Y VT AT AT geearerat I G qu1 SrgReror (AOH9) onf & fag g ond
€Y ol IPTET AT TR

IWRIE HYAT & Tetes A, N2 Ry 70 Raeat § @ gad Iugeh IR &1 994 A :

Options:-
.A is false but R is true/(A) &gt =gl § == (R) ¥l &1, Option ID :- 344,
. Ais true but R is false/(A) 9@l g U3=g (R) |al Tai &1, Option ID :- 343,

. Both A and R are true and R is the correct explanation of A/(A) 3R (R) giF1 9gl & 3R (R), (A)
& 9l sare= g1, Option ID :- 341,

. Both A and R are true but R is NOT the correct explanation of A/(A) 3R (R) &1 9at & a== (R),
(A) & Tt =T A1t g1, Option ID :- 342,
Answer Given:- A is true but R is false/(A) &t & 93] (R) W&t =gl &1, Option ID : -343

Question ID:- 63

Which of the following are true about the Special Libraries Association (SLA)?
A. SLA was formed in the year 1909

B. John Cotton Dana was the founder President

C. It has its headquarters in Chicago




D. Publishes Science and Technology Libraries, a journal

Choose the correct answer from the options given below:

fafe gwaoeg 99 (Ta g @) & SWeu A Fafof@a s d sy s g
A. faf2re geaerTera @ (T8 Tt Q) hY Rma=r 1909 # g o

B. ST hleT ST 36 HEITUH Hemel &

C. 39 geEared e A [T @

D. 9§ 'g1Ed Us ¢HITSil ATSsIST ATHh STl <hl UehI hidT &

R Ry Reaidda@i R

Options:-

.A and B only/&ae A 3R B, Option ID :- 251,
. A and D only/aa«t A 3R D, Option ID :- 249,
. B and C only/<haet B 3R C, Option ID :- 250,

. C and D only/aha«t C 3R D, Option ID :- 252,
Answer Given:- C and D only/d&ast C 3R D, Option ID : -252

Question ID:- 41

Identify the recommendations made by National Knowledge Commission, 2005 to ensure
sustained attention to the development of libraries.

A. Implementation of Public Libraries Act in all states and UTs
B. Reassess staffing of libraries

C. Set up a central library fund

D. Prepare a roadmap for holistic development of citizens

Choose the correct answer from the options given below:

qerarerl oh fAehTd i 3TR Tad s RN = 8 UE 14 31rahT, 2005 ZRT 6l 7€ i &
ygaHE fifSe:

A. 9t Iroal aut 9u sy A1 A grdSifAe e g @ny seen
B. geamert § hlfeeh caedT (fth) o1 qifeaic

C. &g vurera fAfd o1 FAmfor

D. ARTReRT & Tyl e &g FuR@ET dUR &




H fRw e faereat & 9 9@ 3R o1 9+ hiforg :

Options:-

.A and C only/aa« A 3R C, Option ID :- 164,
« A and D only/d&ae A 3R D, Option ID :- 162,
. B and D only/@ha«t B 3iik D, Option ID :- 163,

. B and C only/2a<1 B 3iR C, Option ID :- 161,
Answer Given:- B and D only/da B 3R D, Option ID : -163

Question ID:- 70

Match List | with List I

List | List Il

Metadata Examples

A. Administrative Metadata|l. Documentation of the physical condition of responses

B. Preservation Metadata |[ll. Search Log

C. Technical Metadata lll. Tracking of system response time

D. Use Metadata IV. Selection criteria for digitization

Choose the correct answer from the options given below:

Tt -1 8 g -1l @ A A

g - | T - I

A. umgi_es Aerster |1 ufasrarett 6 afaes RAafa @ aeam=
B. uRReiur Aererer Il 9 &

C. dar-ilchl Aersrer |l fRAeew Raui=a @129 &1 udar «m=r
D. IUGHT HeTsTer IV. RfStergsiaE & g aa9 aes

H=2 Ry g faereat 7 @ @@t SR AT

Options:-

A-1,B-1l,C-IlIl,D- IV, Option ID :- 277,
«A-I1,B-IV,C-1,D-Ill, Option ID :- 279,
.A-lILB-IV,C-II,D -1, Option ID :- 280,

.A-IV,B-1,C-1Il,D- I, Option ID :- 278,
Answer Given:- A- 11, B-1V,C - I, D - Il , Option ID : -279

Question ID:- 38
National Centre for Children's Literature (NCCL) is related to

AT I11 A1 ahe; (A AR BR RS =R - g ot ot o) fraw geafaa g ?
Options:-

.CBSE/t &t vq &, Option ID :- 152,

. NBT/g= &t &, Option ID :- 150,




« NCERT/u #ft § a1 &, Option ID :- 149,

. RRRLF/3TR 3R 3R T T, Option ID :- 151,
Answer Given:- NCERT/qA dt § 3rR €1, Option ID : -149

Question ID:- 3

Under the RTI Act, 2005, which person cannot submit a complaint to the Central Information
Commission or State Information Commission, as the case may be?

=T a1 1R S1fAfaw, 2005 & siarfa fAmfaf@a & @ wiw a1 aafts Sk gaaT smabr o o=
o= mrah, St fRfA g, & wwer fAwraa gt 78 & gdhar ?

Options:-

.Who approaches directly to CIS or SIC without approaching CPIO or SPIO as the case may be./
St Hidrendsit ar gadisngan, sl off A g, @ dudh wnfua ferg faar dendey ar gaend«dt @
e "ueh & €1, Option ID :- 11,

. Who believes that s/he has been given incomplete, misleading or false information under this

Act./ag =af<h it AT @ / ATt @ foh 3¢ srquf, ures ar era g € wE @1, Option ID :- 12,

. Who has been refused access to any information related under this act./fS=¢ 39 srf9ffaw &
Sierfa fareft Tra g 33 @ 71 o= R mam @1, Option ID :- 9,

. Who has been required to pay an amount of fee which s/he considers unreasonable./fS=1% [eeh
&F AfA & aprarE 1 Rt fhan wan @ =g ag srarfdhes A & / A €1, Option ID :- 10,
Answer Given:- Who has been required to pay an amount of fee which s/he considers
unreasonable./fS=¥ [k &Y AFA & WTAT &1 SR foha T @ A ag sranfhas a=a & / A
&1, Option ID : -10

Question ID:- 18

"The structure of a classification system on the basis of materials to be classified rather than on
purely theoretical considerations” is known as:

"gofa: Sgifas faaroi fY e aeffevor Y s areht grft & R @R FEffezor ot H ==
o gl AT S -

Options:-

.Literal mnemonics/2Mfe&er TIRUT S-Teh / WIRUT Hehd, Option ID :- 71,

. Literary warrant/feie=®} ae, Option ID :- 72,

. Literature Search/a1fgea @tst, Option ID :- 69,

. Taxonomy/afferzor fsir=r (arat=itfY), Option ID :- 70,
Answer Given:- Literal mnemonics/2mnfs&es SIROT S1-Teh / TRUT EHehel, Option ID : -71

Question ID:- 13

Who among the following called "Reference Service" as a "personal intercourse between
librarians and readers"?

A=fafEa d @ fFas "desf |ar & 'gererrerarest oiik ursal’ & it aafthra darg” were ?




Options:-

Melvil Dewey/a=fae didt, Option ID :- 52,

. S. R. Ranganathan/Qd.31R. {TTYS, Option ID :- 49,
. Samuel Swett Green/&%aie we i+, Option ID :- 51,

. William A. Katz/faferaw €. s1est, Option ID :- 50,
Answer Given:- S. R. Ranganathan/Qd.3R. ¥, Option ID : -49

Question ID:- 82

Arrange the following layers in their correct sequence in the 0S| Model.

A. Network Layer

B. Physical Layer

C. Presentation Layer
D. Data Link Layer

E. Application Layer

Choose the correct answer from the options given below

3. gH.amd. Heef & fafoif@a w=f ot 37 adt s A gafRa & :
A. qeadh &R

B. +ifae TR

C. ugfa &R

D. s1eT foiep wR

E. dfrcheq &R

= f}g g fAepeui A @ W@ SR A -
Options:-

.A, C, E, B, D, Option ID :- 326,

. B,D, A, C, E, Option ID :- 327,

. C, A, B, E, D, Option ID :- 328,

. D, A, C, B, E, Option ID :- 325,
Answer Given:- B, D, A, C, E, Option ID : -327

Question ID:- 5

In UNESCO's conceptual model of Media Information Literacy (MIL), 2013, which one of the

following circle represents:

"The information resources and the means by which information is communicated...

gAwh! & fafzar ga=m aierar & sraureners ufaw, 2013 | Aafaf@a § @ & -ar ada 39
R FAefta hear g : "d gaem Sy auT 9rue [9d ZRT g9Er o 99R glar g

Options:-




.Centre circle/&eX e, Option ID :- 17,
. The Final Circle/3ifam @, Option ID :- 20,
. The Second Circle from the Centre/shg & a3 gehet, Option ID :- 18,

. The Third Circle from the Centre/dhg & =T @ehe1, Option ID :- 19,
Answer Given:- The Final Circle/sifaw @ehet, Option ID : -20

Question ID:- 37

The term 'Internet of Things was first used by:

e AT Y U< oh1 duy™ IuahT fhaeh g1 favar mar 2

Options:-

.Bob Thomas/dTa A=A, Option ID :- 146,

. D. W. Lewis/&}. s, qg9, Option ID :- 145,
. Jian Qin/fSt3m= far, Option ID :- 148,

. Kevin Ashton/&fas1 gee1, Option ID :- 147,
Answer Given:- D. W. Lewis/&}. . §39, Option ID : -145

Question ID:- 62

Which among the following are examples of primary channels of communicating research?
A. Journals

B. Encyclopedias

C. Theses

D. Thesauri

E. Biographies

Choose the correct answer from the options given below:

fFrafafaa d ity & atvor & g wafds 396 & H9 - F19 @ IR
A. Se

B. fagyenlw

C. MY uee

D. yafuart &y

E. Sfia= aRa

2 g g Reweai # d Tf IR A

Options:-




.A and C only/&ae A 34k C, Option ID :- 246,
. A and D only/3a<1 A 3R D, Option ID :- 245,
. B and D only/<haret B 3R D, Option ID :- 247,

. C and E only/a&a« C 3R E, Option ID :- 248,
Answer Given:- C and E only/&ae C 3R E, Option ID : -248

Question ID:- 4

"Edanz", a journal suggester service is associated with which leading publisher?

‘T3 Yok ufahT geima |ar, Rfaf@a & @ e smoft ueerere @ wdafda g ?

Options:-

.Elsevier/gegifaar, Option ID :- 13,
. Sage/¥T, Option ID :- 14,

. Springer/f@R, Option ID :- 15,

. Wiley/arsst, Option ID :- 16,
Answer Given:- Springer/f@iR, Option ID : -15

Question ID:- 54

Which of the following are 'TQM' tools?
A. Histogram

B. Pie Chart

C. Bar graph

D. Pareto Chart

Choose the correct answer from the options given below:

Fafaf@a § @ &9 '& g oo SuawroT § ?

A. fR=ta=

B. Ut 91é

C. IR UT%h

D. u¥et =

R Ry REaI f Y R :
Options:-

.A and D only/&ae A 3R D, Option ID :- 215,
. A and B only/2a<t A 3R B, Option ID :- 213,

. B and C only/haet B 3R C, Option ID :- 214,

. C and D only/aa«t C 3R D, Option ID :- 216,
Answer Given:- B and C only/a&ast B 3R C, Option ID : -214




Question ID:- 55

Identify web programming languages among the following
A. Ruby

B. PL/1

C.saL

D. Python

Choose the correct answer from the options given below:

f=afafaa d @ 39 ahnfan wmarsit f gga= fifsg :
A. =t

B. ft g=1/ 1

C. g Qe

D. urgy«

MRy Reai TR IR :

Options:-

.A, B and D only/@a< A, B 3iR D, Option ID :- 220,

. A, B and C only/haet A, B 3R C, Option ID :- 217,

. A, C and D only/awa« A, C 3R D, Option ID :- 219,

. B, C and D only/a&a« B, C 3% D, Option ID :- 218,
Answer Given:- B, C and D only/&ae B, C 3% D, Option ID : -218

Question ID:- 7

Which one of the following acts as a Nodal Agency for 'National Mission on Libraries' (NML) for
administrative, logistics, planning and budgeting purposes?

A=faf@a d @ & ‘vl uR &5, smrais sk aerdla vatsl g T g A (T3
TH Ud) & AT Atse goidt & 9 d sref aear g ?

Options:-

.Delhi Public Library/Reeft ufeier @imgsi¥t, Option ID :- 26,

. National Library of India/yRea g geaeptera , Option ID :- 25,
. NISCAIR/T= 31m$ ©q €l ¢ 31$ 3=, Option ID :- 28,

« RRRLF/3TR 3R 3R U T , Option ID :- 27,
Answer Given:- RRRLF/3IR 3R 3R Ted T , Option ID : -27

Question ID:- 19

Which of the following is not a high-level class or entity in the BIBFRAME model?




ffeaffRad @ s Ry area A S R sivhargar =i ¢ 2
Options:-

.BIBFRAME Instance/farth® 3154, Option ID :- 74,

. BIBFRAME Item/faarths 3mgew, Option ID :- 75,

. BIBFRAME Title/faarsh# e1ge«, Option ID :- 76,

. BIBFRAME Work/faeth#d a<h, Option ID :- 73,
Answer Given:- BIBFRAME Item/faertha 31rge#, Option ID : -75

Question ID:- 32

In the context of the spiral of Scientific Method, the verification phase is represented between
which two cardinal points?

ISR dafs ugfa & d@ef A gaara avur & ffaf@a e &t fawgeit & &g oo ot sran g 2
Options:-

.Ascendent and Zenith/3TRIguT 3R 2ftefer fa=g, Option ID :- 126,

. Descendent and Nadir/31aRIgur 3iRR sferifa=g, Option ID :- 128,

. Descendent and Zenith/sraRigur iR 2fivfe fa=g, Option ID :- 127,

. Nadir and Ascendent/sititfa=g 3fiR 31RigoT, Option ID :- 125,
Answer Given:- Descendent and Zenith/31aRtgur 3R 2fitfeer fa=g, Option ID : -127

Question ID:- 6

Which one of the following digital collections is not provided by the Library of Congress?

frafafaa A | farg f2fSies Gug & AEsst Sifth il ZRT ueH ¢ frar srar g ?

Options:-
.Chronicling America/shifAerfeiiT 3mfRenT, Option ID :- 21,

. Civil War Glass Negatives and Related Prints/fafas ar wama faifes ¥ Rees fi=eH, Option ID
- 24,

. Stereograph Cards/&RauTE @14, Option ID :- 23,

. Treasures in Full/¢ST¥ &9 %, Option ID :- 22,

Answer Given:- Civil War Glass Negatives and Related Prints/fRfas ar o9 faeifesw 4z Relds
=4, Option ID : -24

Question ID:- 50

In the context of dialogue between a user and computer through an interface, Tefko Saracevic's
Stratified Model (1997) when viewed from the human side represents which strata:

A. Content levels
B. Processing

C. Cognitive

D. Affective

E. Situational




Choose the correct answer from the options given below:

FEhY ZRT IUTIRHT dUT FRYR & g Harg & g #, ‘2ol arefas' & wdiga Arad (1997) &t
AT & gftentor @ 3@ o1 R fA=fafEa | &l - a1 @ e g ?

A. 3igd¥g (Content) ¥R

B. UshHUT

C. e TR

D. HITdTcHh

E. uRfedfa s

TRy RAFaiAd gt R :

Options:-

.A, B and C only/&a A, B 34R C, Option ID :- 197,
. B, C and D only/&hast B, C iR D, Option ID :- 198,

. B, D and E only/ha< B, D 3R E, Option ID :- 199,

. C, D and E only/&as C, D 3R E, Option ID :- 200,
Answer Given:- C, D and E only/&as C, D 3R E, Option ID : -200

Question ID:- 58

Select expert systems from among the following
A. DEEPIN

B. PROSPECTOR

C. REACTOR

D. MYCIN

Choose the correct answer from the options given below:

fFrafaf@a d @ Rdus vomeht i uga= fHifdg
A. ST

B. Hiedaez

C. Ruae=

D. mmsfa=

i Ry g Rreaf § § wf IR A

Options:-

.A, B and D only/@hast A, B 3iR D, Option ID :- 232,
. A, B and C only/&haet A, B 3R C, Option ID :- 229,
. A, C and D only/ahaet A, C 34k D, Option ID :- 231,
. B, C and D only/&ha B, C 3iiR D, Option ID :- 230,




Answer Given:- A, C and D only/&ast A, C 3R D, Option ID : -231

Question ID:- 84

Arrange the following with their year of establishment in ascending order -
A. American National Standards Institute

B. International Telegraph Union

C. Internet Engineering Task Force

D. World Wide Web Consortium

Choose the correct answer from the options given below

Frafafla &t = af & sRig e 7 afRa &
A. 3R A Ved s iae

B. e« iUt gfaa=

C. geAte Sefifafin erer Wi

D. a2 153 A9 F-AiféaH

R Ry g fAreaf A @ wd SR A -

Options:-

.A, B, C, D, Option ID :- 335,

. B, A, C, D, Option ID :- 336,

. C,D, A, B, Option ID :- 333,

. D, A, B, C, Option ID :- 334,
Answer Given:- A, B, C, D, Option ID : -335

Question ID:- 40

"The special library must, for instance, make much more use of what has come to be known as
documentation than the general library" stated by whom

" ueiE (STRgA=2IMT) Thgl ST § SHhT AT g Tl o1 H AT gerarera ZIRT 1R IugiT
farar st =nf@y’ - ag frawT wu= g ?

Options:-

.Aksel G.S. Josephson/3rad« Sfl. TH. SiwyA, Option ID :- 157,
. John Cotton Dana/SiT<T sfe- ST, Option ID :- 160,

. Paul Otlet/diet 3ifeste, Option ID :- 158,

. Richard H. Johnson/RRa$ wa. Sitw=, Option ID :- 159,
Answer Given:- John Cotton Dana/<ii< ahife- ST, Option ID : -160

Question ID:- 47

Which of the following are the Product and Services of OCLC?




A. E Z Proxy

B. Librarians yellow pages

C. Green Glass

D. Cataloguing Distribution Service

Choose the correct answer from the options given below:

fFafof@a & @ 19 ot ot g ot & S stk Garg & 2
A. & Sft viterft

B. ATgsia et USie

C. 7 s

D. et fRefieger afda

TRRe g RAFai A d gt TR :

Options:-

.A and B only/&ae A 3R B, Option ID :- 186,

. A and C only/aaet A 3R C, Option ID :- 185,

. B and C only/ha«t B 3R C, Option ID :- 187,

. C and D only/aa<t C 3R D, Option ID :- 188,
Answer Given:- B and C only/a&ast B 3R C, Option ID : -187

Question ID:- 46

Semantic web is based on which of the following types of technologies:
A. Resources Description Framework (RDF)

B. Uniform Resource Identifier (URT)

C. Ontologies

D. Indentions

Choose the correct answer from the options given below:

@R 39 FrafafEa 9 @ fra ueR 6 aa-ie R snuRa g ?
A. Rard faaforem shaad (RDF)

B. g Rad smesddwrR (URI)

C. o

D. 3999

= e v et & @ 98 IR &1 9= fifog :

Options:-
.A, B and C only/d&as A, B 3R C, Option ID :- 183,
« A, B and D only/&as A, B 3R D, Option ID :- 181,




. A, C and D only/awa« A, C 3R D, Option ID :- 182,

. B, C and D only/&a«t B, C 3R D, Option ID :- 184,
Answer Given:- B, C and D only/&a« B, C 3iR D, Option ID : -184

Question ID:- 2

According to the UGCC (Promotion of Academic Integrity and Prevention of Plagiarism in Higher
Educational Institutions) Regulation, 2018, if any person suspects plagiarism in any document,
who should s/he report it to?

g Sft &t (srarrefe gwafasr @auF ok 3= fAen dwaet # aifgea 9 & derum) s, 2018 &
SR afg freft cafws it faeht qwarad | arfge 9 &1 wig @ at ag fres fRreraa v / %t 2

Options:-

.DAIP ( Departmental Academic Integrity Panel )/ggamdth YRurfla srerrefas awafs dae),
Option ID :- 6,

« HHEI ( Head of the Higher Education Institution )/gaqagang (3= A& S & W), Option
ID :- 7,

. IAIP ( Institutional Academic Integrity Panel )/3mSusmsd} (YwuTonTa SrerrefAes SaafasT d49e),
Option ID :- 5,

« UGC ( University Grants Commission )/gsfieft (Rgjfaenmera srga™ sma), Option ID :- 8,
Answer Given:- IAIP ( Institutional Academic Integrity Panel )/3$g3nsdt (GuTsTiTd SrehrefAe
gaafsT 449e), Option ID : -5

Question ID:- 71

Match List | with List Il

List | List I

A. Member checking I. Attitude Ratings

B. Likert scale Il. Virtual conversation
C. Thurstone Equal Appearing Interval

Scale lil. Bipolar scale

IV. Reverification of collected data and

D. h . .
Synchronous interpretations

Choose the correct answer from the options given below:

Tt -1 R g -1 @ gAfoa e

Celll =i -l

A. G&H ST 1. sifagi FAeriRor

B. forerd dmmET II. 39Tt Targ

gi.?r:!?-l? EW STt 1. fZgrht 9= (Bipolar)

D. & IV. R S1eT &1 g 3R
HTHTROT

H R g fareal & € wd SR gfv:

Options:-

.A-1,B-1I,C-IV,D - lll, Option ID :- 283,




«A-1lIl,B-1I,C-1V,D -1, Option ID :- 284,
«A-1lIl,B-IV,C-1lI,D -1, Option ID :- 282,

«.A-IV,B-IIl,C-1,D-Il, Option ID :- 281,
Answer Given:- A-1,B-1l,C-1V,D - lll, Option ID : -283

Question ID:- 35

'Uptodate’ (Kluwer) is:

'S (FFAR) FATE :

Options:-

.A digital repository for health science researches in Europe/gziu # e fa== v gg Th
fafStes ugu (RRfStew RuifSied), Option ID :- 137,

. A directory of open access journals in health sciences/ara fas= # sfiu= gad¥ Sia i
fA&frent, Option ID :- 138,

. A resource for clinical decision support for health science professionals/rea fasm=

aggaTfaal gq faafadra fofa & wee & farg d@wmem, Option ID :- 139,

. An alert service from journals covered in a journal database/<T-el sTeTe & anfA« Sl @ S
& gfae, Option ID :- 140,

Answer Given:- A digital repository for health science researches in Europe/g3iu & @4 fasm
M gq T FfSes dugor (FefSies RuifSied), Option ID : -137

Question ID:- 12

Who was the founder of Project Gutenberg?

gRgisT Rt & SXRTUE HiF o ?

Options:-

.Edmund Herry/gs#zs gt , Option ID :- 48,

. Joan M. Reitz/sit3r< g#. Rest, Option ID :- 47,
. M. Gutenberg/g#. e, Option ID :- 46,

. Michael Hart/AT3eRet 1<, Option ID :- 45,
Answer Given:- Michael Hart/HTSeRet 81¢, Option ID : -45

Question ID:- 11

Who was the Chief Editor of 'Webster's Third New International Dictionary of the English
Language: Unabridged'?

Arafaf@a § @ a9 daed ¥ Y feqiama gt site & dfaer dast g & gea dures 37

Options:-
.Edmund Herry/gs#z g, Option ID :- 43,
« M. R. Gould/TH.3IR. M3<g, Option ID :- 41,




. Michael Gorman/#Tgehet MRAS, Option ID :- 44,

. Philip Babcock Gove/fthfera Srerter M4, Option ID :- 42,
Answer Given:- Philip Babcock Gove/fthforq aererter M4, Option ID : -42

Question ID:- 26

Lycos is a search engine which was originally started as a research project at-

AR R ad feF g A gEa: 7 srgEy uRdter s & &9 # g fovar mami
Options:-

.Carnegie Mellon University/&r-ft &1 gfAaf¥i&, Option ID :- 102,

. Harvard University/gRag gfaaf¥ié, Option ID :- 103,

. Stanford University/®-=®iE gfaaffél, Option ID :- 101,

. Virginia Tech/afStfRar ¢<k, Option ID :- 104,
Answer Given:- Virginia Tech/afStfRar 2, Option ID : -104

Question ID:- 43

Which of the following Public Libraries Acts have the provision of library cess?
A. Kerala

B. Manipur

C. Haryana

D. Orissa

Choose the correct answer from the options given below:

fAeafafaa A 9 fra g gwerm IfAfaT A g TSR 1 ugy= &

A. A

B. #forgR
C. gRaron
D. 34T
H= e v et & @ 98 IR &1 = fifog :

Options:-

.A and B only/&as A 3R B, Option ID :- 172,
. A and D only/@hast A 3R D, Option ID :- 171,
. A and C only/aa<1 A 3R C, Option ID :- 169,

. B and C only/<haet B 3R C, Option ID :- 170,
Answer Given:- A and C only/eas A 3fiR C, Option ID : -169




Question ID:- 83

Arrange the following reference and information sources according to their first year of
publication:

A. Europa Year - Book

B. Whitaker's Almanac

C. Guinness Book of World Records
D. Statemen's Year - Book

Choose the correct answer from the options given below

frafaf@a deof s gaar wtat &t 3976 guw g af & orgar sqafedd & -

A. U FR - IH

B. gTEdhd 3reHATR

C. st gop 3ifF a2 Rard

D. ReHaAT SR &

H3 Ry g Rereai F Y afi R g -

Options:-

.B, A, D, C, Option ID :- 330,
. B,D, C, A, Option ID :- 329,
. D, A B, C, Option ID :- 331,

. D, B, A C, Option ID :- 332,
Answer Given:- B, A, D, C, Option ID : -330

Question ID:- 65

Which among the following represent, "Asynchronous” reference transactions?
A. E-Mail

B. Web Forms

C. Video Conferencing

D. Ask A Service

E. Digital Reference Robots

Choose the correct answer from the options given below:

Frafaf@a § @ o= "gfRmp=a" Y givtas &t g2far g ?




A §-Aa

B. a9 it

C. difzat s=hfam

D. 3%k ¢ 9fdq

E. fafSiest Yo datea

H fRw e faereat & 9 9@ IR o1 T hifog :

Options:-

.A, B and C only/&a A, B 3R C, Option ID :- 258,
. A, B and D only/<hast A, B 3R D, Option ID :- 257,
. B, C and D only/&a« B, C 3R D, Option ID :- 259,

. C, D and E only/&a«t C, D 3fR E, Option ID :- 260,
Answer Given:- A, B and D only/&ae A, B 3R D, Option ID : -257

Question ID:- 49

An important Academic Social Networking site, 'ResearchGate' was founded by
A. ljad Madisch

B. Soren Hofmayer

C. Horst Fickenscher

D. Brian Acton

E. Jan Koum

Choose the correct answer from the options given below:

ok Hg<aquf Aeifore e Aeafd arge '‘Radie’ & wmgar foraa &t ot 2
A. §oTre Af3ar

B. T 81t AR

C. gIE fthah=R

D. fsram= gaeq

E. 99 gH

Ry Reai dda@ IR

Options:-
.A, B and C only/aa« A, B 3R C, Option ID :- 193,




. A, C and D only/aha«t A, C 3R D, Option ID :- 194,
. B, C and D only/&a B, C 3R D, Option ID :- 195,

. C, D and E only/ahaet C, D 3R E, Option ID :- 196,
Answer Given:- B, C and D only/&a« B, C 3tk D, Option ID : -195

Question ID:- 87

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: No need to have registration for the copyright works in India.
Reason R: As per the Berne Convention, copyright protection is obtained automatically.

In light of the above statements, choose the correct answer from the options given below

A FARuaw e : g ifwy= (A) & wu A fof@a @ af gor S9d &Rt R) F & # ¢
SfAFHUA (A) : WRa d ufaforanfdaR (widRie) & fog dsfiezor $ir smaaewar 78 g1

&R (R) : 99 9 & IER, uAforafdeR (widikige) @4: & ure gt siman 81

IWRIh HYUAl & Tl 7, N Ry 71y et & @ 94 Iuge IwR &1 994 FifSg

Options:-
.A is false but R is true/(A) Hat =gl & Uz (R) €@l &1, Option ID :- 348,
. Ais true but R is false/(A) 9gl g uz=g (R) |gl =T8I &1, Option ID :- 347,

. Both A and R are true and R is the correct explanation of A/(A) 3iR (R) &1 6gl & 3R (R), (A)
& T =TT g1, Option ID :- 345,

. Both A and R are true but R is NOT the correct explanation of A/(A) 3R (R) &+ @&t & u==g (R),
(A) <t E@t aareaT 81 &1, Option ID :- 346,
Answer Given:- A is false but R is true/(A) &gt gl @ u?=g (R) €& &1, Option ID : -348

Question ID:- 52

Which of the following are not Posteriorising Common Isolates according to Colon Classification
(sixth revised edition)?

A. Institution

B. Learned Society
C. Bibliography

D. Table

Choose the correct answer from the options given below:

f&feg arffervor (Ba1 H2aifda dwmeon) & sgar fA=faf@a # | @i uwradt 9= gad (PCI) g e ?
A. G&T (§8EpR)

B. faga gwret (affs giasd)

C. Tught




D. §ruft

7 i g fAepeui A G I SR A

Options:-

.A and C only/eaet A 3R C, Option ID :- 206,
. A and B only/&a< A 3R B, Option ID :- 205,
. B and C only/@aet B 34k C, Option ID :- 207,

. C and D only/awa« C 34R D, Option ID :- 208,
Answer Given:- B and C only/a&ast B 3R C, Option ID : -207

Question ID:- 66

Match List | with List I

List | List Il

A. Khuda Baksh Oriental Library I. Tamil Nadu

B. Rampur Raza Library Il. Bihar

C. Sarasvati Mahal Library lll. Uttar Pradesh
D. Nehru Memorial Museum & Library|IV. Delhi

Choose the correct answer from the options given below:

Tt -l 8 gl -1l @ A A

T -l T -1l

A. 3T Ia2T HIRGeA G |. arfferTg
B. IHYR I GEAhTard 1. R

C. Tl Hgd YTl 1. I<R wesr
D. Ag® ®ARTA TgfAaH U Arssit IV. Rt
H7 iy g fAreut A @ Wt SR gl

Options:-

«A-1,B-1lI,C-1il,D -1V, Option ID :- 263,
«A-Il,B-IIl,C-1,D -1V, Option ID :- 262,
«A-1I,B-1,C-IlI,D-IV, Option ID :- 264,

«.A-IV,B-Il,C-Ill,D-I, Option ID :- 261,
Answer Given:- A-1l,B-1ll,C-1,D - IV, Option ID : -262

Question ID:- 15
Mobile App, "BARD" is meant for people with :

wlarget QU ‘a1E (figems) s g e g 2

Options:-

.Hearing Impairment/sreror anfas, Option ID :- 58,

. Mental lliness/am_f@s i\, Option ID :- 60,

. Speech and Language Disability/aTep 3fiX STST 3121=hdT, Option ID :- 59,

. Visual Impairment/gf& srifa, Option ID :- 57,
Answer Given:- Hearing Impairment/sieot a1f9d, Option ID : -58




Question ID:- 45

Which among the following are the examples of "Descriptive Metadata"?
A. Finding aids

B. Specialized Indexes

C. Selection criteria for digitization

D. Curatorial Information

Choose the correct answer from the options given below:

fFr=fafae d | "aofarers deder” & e R | 82
A. @t g19H (wref= egw)

B. fafdre srgaaftrard (@fraersss s24@9)

C. f3fSterzsiaM & =g+ ArugUs

D. FRReERas gt

H fRw e faereat & O 98 IR o1 w9 fifog :

Options:-

.A, B and D only/&a< A, B 3R D, Option ID :- 180,
. A, B and C only/haet A, B 3R C, Option ID :- 177,
. A, C and D only/aa« A, C 3R D, Option ID :- 179,

. B, C and D only/a&a« B, C 3% D, Option ID :- 178,
Answer Given:- A, B and C only/&as A, B 3R C, Option ID : -177

Question ID:- 88
Given below are two statements

Statement I: Yahoo can explore more count of web sites while searching a query than
Metacrawler.

Statement Il: Meatcrawler is a Metasearch engine.

In light of the above statements, choose the most appropriate answer from the options given
below

A FRuaw e : g i wy= (A) & wu A fof@a @ af govr S9d &Rt R) Fwu # ¢

3fAera (A) : a1g, fanelt ust it dad T Aereheer &t g d sifder dadrse 6 TAVOT FR Fehar
gl

ah (R) : AETSRISER Teh HeT O &1 &1
IWRIh HYUAl & Tl J, 2 Ry 71y faereut § @ e Iugeh IwR &1 994 FifSg




Options:-

.Both Statement | and Statement Il are correct/(A) 3% (R) &It @&t & 3R (R), (A) &t gt zaren
&1, Option ID :- 349,

. Both Statement | and Statement Il are incorrect/(A) 3iR (R) g1 &gt & == (R), (A) & gl
=1t 1@l @1, Option ID :- 350,

. Statement | is correct but Statement Il is incorrect/(A) &gl & u==g (R) &gl =1gi &1, Option ID :-
351,

. Statement | is incorrect but Statement Il is correct/(A) GHERE R (R) g 81, Option ID :-
352,

Answer Given:- Both Statement | and Statement Il are correct/(A) 3iR (R) &1=1 @@t & 3R (R), (A)
& G aarz=T 81, Option ID : -349

Question ID:- 36

The International Council on Archives was founded in the year

SHARTE T AAERIR Tug uRug (FeAFe SR Sifth sienfged) it wma=m g€ ot :
Options:-

.1943/ad 1943 &, Option ID :- 141,

. 1948/a¥ 1948 #, Option ID :- 142,

. 1952/a 1952 #, Option ID :- 143,

. 1956/as 1956 #, Option ID :- 144,
Answer Given:- 1952/atf 1952 #, Option ID : -143

Question ID:- 69

Match List | with List Il

List | List I

A. Strategic sharing I. Maximising efficiency

B. Paradigmatic sharing|ll. Sharing between teachers and students

C. Directive sharing lll. Establishing a novel distinguishable research approach
D. Social sharing IV. Relationship and community-based activities

Choose the correct answer from the options given below:

et -1 e -1l @& Ao A

T -l Tt -1l

A. oTaeR SguTe=

(2 Stafé) . geramad_

B. ET<IURh g I1. fYarent aur et & =
(Arfemafean afd) TS

C. R ggueH I11. Qeh <= T fafre e
(sTaRfeRea afdm) IUTTH hl TITgT

D. GmSish GgHIeH (Tire  [IV. TaY - JUT T9ErT ATATRd
afa) hfeheTd

H=2 Ry g faereat 7 @ @@t SR AT

Options:-




.A-1,B-1Il,C-II,D - IV, Option ID :- 274,
«A-1I,B-1,C-Ill,D - IV, Option ID :- 273,
«A-1I,B-1I,C-IV,D - 1, Option ID :- 276,

«.A-IV,B-1,C-Ill,D-IlI Option ID :- 275,
Answer Given:- A-1l,B-1,C-1ll, D - IV, Option ID : -273

Question ID:- 60

Which of the following are examples of Non-probability Sampling?
A. Convenience Sampling

B. Simple Random Sampling

C. Quota Sampling

D. Stratified Random Sampling

Choose the correct answer from the options given below:

frafaf@a & @ e srfRear fAgefa (A - wfafad) Swafehn & sagor & 2
A. gRugar e

B. WR argfae e
C. gui fFAgfa

D. T¥igpa argfede gt

7 fog g fAepeut A @ G SR A -

Options:-

.A and C only/&haet A 3iR C, Option ID :- 238,
. A and B only/@hae A 3R B, Option ID :- 237,
. B and C only/&a«t B 3R C, Option ID :- 239,

. C and D only/araet C 34k D, Option ID :- 240,
Answer Given:- A and B only/&as A 3R B, Option ID : -237

Question ID:- 51
Which of the following are true about the Z 39.50?
A. It is an international (ISO 23950) standard

B. The contextual Query Language is not based on Z 39.50 semantics

C. It was originally approved by the National Information Standards Organisation (NISO) in 1988

D. It is maintained by IFLA

Choose the correct answer from the options given below:




fFefaf@ad € 2 39.50 & ar & FaT-7a T & ?

A. U8 Siawgiy (Smdudait - 23950) HH gl

B. e uer Wrar Z 39.50 dHfee ur senfRa w1 81

C. TIa: AL GIAT AIIeh TS (T 31E T 31t) ZR1 af 1988 # srgwifea|
D. 31T¢ QW Qe  SrRfaie 21

R Ry Reaidda@ R

Options:-

.A and C only/&ae A 3fR C, Option ID :- 202,
. A and B only/@aet A iR B, Option ID :- 201,
. B and C only/&a« B 3iR C, Option ID :- 203,

. C and D only/aa«t C 3R D, Option ID :- 204,
Answer Given:- B and C only/d&as B 3fiR C, Option ID : -203

Question ID:- 31

The first US patent for an active RFID tag with rewritable memory was awarded to

Rergeae Aut & a1y gfaea o1k U o € & @q ugen g vH 9 s fear mar un ?

Options:-

.David Brock/3fas sifer , Option ID :- 124,

. Kevin Ashton/&fa=t g2e=1, Option ID :- 121,

. Mario Cardullo/=1Rat &Rget , Option ID :- 122,

. Sanjay Sharma/&<ta 2/Hf , Option ID :- 123,
Answer Given:- Kevin Ashton/&fa= gee=T, Option ID : -121

Question ID:- 53

Which of the following are the Data visualization software?
A. Vosviewer

B. Zotero

C. Minitab

D. NVivo

Choose the correct answer from the options given below:




fFr=fafae 9 @ srer fgemEse st Fa -4 g2
A. TEHGIR

B. Sifedt

C. fafRa

D. T+ faat

H2 Ry o R A S af IR A -

Options:-

.A, B and D only/d&ae A, B iR D, Option ID :- 211,
. A, B and C only/haet A, B 3fR C, Option ID :- 212,
. A, C and D only/aha«t A, C 3R D, Option ID :- 210,

. B, C and D only/&ha« B, C 3fiR D, Option ID :- 209,
Answer Given:- A, B and C only/@hae A, B 3fiR C, Option ID : -212

Question ID:- 90

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A Web Portal is a specially designed website that brings information from diverse
sources.

Reason R: The majority of public libraries in India are using web portals.

In light of the above statements, choose the most appropriate answer from the options given
below

T FuTRug g : v sify= (A) & wu A ff@a g af go=T 39t FRUT (R) & U H .

fAFHYU (A) : 39 Uiéd gah Aty & @ fAfdfa dewrge @ st RfS sl @ gaen gafa &=ar gl
&R (R) : YRA & 3ifAehier ArdsifAen durera aa uide o1 uahT &=d g1
IWRIh HYUAl & 3Tt J, N Ry 71y et & @ e Iuge IwR &1 994 FifSig

Options:-
.A is correct but R is not correct/(A) §igt & == (R) &at =gl &1, Option ID :- 359,
. A is not correct but R is correct/(A) Egl T8I & u==g (R) W&l &1, Option ID :- 360,

. Both A and R are correct and R is the correct explanation of A/(A) 3R (R) &4 9gl & 3R (R),
(A) & Gl =arear g1, Option ID :- 357,

. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iR (R) gi<ii &gl & U=
(R), (A) <Y Tl =arear =gt &1, Option ID :- 358,

Answer Given:- Both A and R are correct and R is the correct explanation of A/(A) 3R (R) &<t 9gt
& ofiR (R), (A) &t wigl ==t g1, Option ID : -357




Question ID:- 67

Match List | with List Il

List | List Il
Conference Theme

th
A. 69 . IFLA General Conference and I. Access Point Library, Media - information culture
Council

rd
B.73 . IFLA General Conference and Il. Connections, Collaboration, Community
Council

th
g;,z:ci|lFLA General Conference and lll. Libraries now-Inspiring, Surprising, Empowering
D. 82"d IFLA General Conference and [IV. Libraries for the future Progress Development and
Council Partnership

Choose the correct answer from the options given below:

et -1 et -1 @& Ao A

et | = -l

(T=ter) (g i)

A. 69 df 31T T T T SR ||, 3ifIm foig srurera, #ifean -
e U iR e

B. 73 dY o qw vt ¢ SR .

e g TR II. Suh, 9gahT, 9qa™

C. 78 & aré vw qwr ¢ STFRA MECLEET R
Hithd US A 3, 9A~h

D. 82 Y oré vw e ¢ STAIRSA IV. wfasa & ge&aeprerd : wfa

H=2 fog g faereat & @ @@t SR gAT:

Options:-

.A-1,B-1ll,C-1V,D-Il, Option ID :- 265,
«.A-1,B-IV,C-1ll,D-1l, Option ID :- 267,
«.A-IV,B-1,C-1ll,D-1I, Option ID :- 268,

«.A-IV,B-Il,C-1,D-Ill, Option ID :- 266,
Answer Given:- A-1V,B-1,C-1Il,D-Il, Option ID : -268

Question ID:- 48

Which among the following options are true about the concept "Folksonomy"?
A. It was coined by Thomas Vanderwal

B. It was coined in 2009

C. It was coined in 2004

D. It was coined by Brian Acton




E. It was coined by Jan Koum

Choose the correct answer from the options given below:

fA=fafEa d @ &4 - W sauRY "kl haR A gt g ?
A. 29 dezaTet ZRT ST T4 §

B. 2009 ¥ 7T 4T @

C. 2004 & T AT &

D. f3IeT Garest g1 o1 W @

E. 9191 ¥ ZIRT g1 74T &

R RAeFaiAd gt TR :

Options:-

.A and C only/&ae A 3iR C, Option ID :- 190,
. A and B only/@aet A 3R B, Option ID :- 189,
. B and D only/<hat B 3R D, Option ID :- 191,

. D and E only/aha<1 D 3R E, Option ID :- 192,
Answer Given:- B and D only/aaet B 3R D, Option ID : -191

Question ID:- 1

According to Copyright (Amendment) Act, 2012, in case of Photographs, the term of copyright is
revised to

ufaferenfasr (F2mu) sifdffam, 2012 & JgER wiehnsd & ame J ufaforarfder safd ot
w2nfda frar man @ -

Options:-

.10 years/10 ad, Option ID :- 1,

. 20 years/20 T, Option ID :- 2,

. 60 years/60 at, Option ID :- 4,

. Omitted/=ta faraT 1T, Option ID :- 3,
Answer Given:- 20 years/20 at, Option ID : -2

Question ID:- 20

Who gave the concept of ‘Mental Revolution'?

Ak shifa'dht srauRon foraw & 2




Options:-

.F. W. Taylor/q%.8sg &R , Option ID :- 79,

. Henry Fayol/g=<} thatet , Option ID :- 77,

. Peter F. Drucker/dlex . ga&<, Option ID :- 78,

. Philip Crosby/ftsfera seiasft , Option ID :- 80,
Answer Given:- Philip Crosby/fhfera seiereft , Option ID : -80

Question ID:- 10

Indian Standard 'IS 1553:1989' is related to:

R ATk a1 311 T 1553 : 1989' fohad Haifda g ?

Options:-

.Design of administrative buildings/a2mafes wa=t a1 f3smms=, Option ID :- 40,
. Design of library building/q&TerTera wa= ht f3siTe, Option ID :- 38,

. Design of library furniture/q&ieTera w-Tar & fasims=, Option ID :- 37,

. Design of library van/q¥darTera a1 a1 f&wirg, Option ID :- 39,
Answer Given:- Design of library van/q&iesTera a1 a1 f&<118+1, Option ID : -39

Question ID:- 73

Match List | with List Il

List | List Il

A. Quantitative Approach |l. Gantt Chart

B. Scientific Management |ll. Bureaucratic Structure
C. Behavioural Approach |lll. PERT / CPM

D. Organisational Approach|IV. Theory X and Theory Y

Choose the correct answer from the options given below:

T -1 at G -1l @ gAfea fifsg

It -l = -l
A. ATHTHS IUNTH . e °1é
B. a9 _eh ueieq I1. TR TG (SRIshieeh TaR)

C. TagRaA Iur™ [lIl. g mR O/ At gn
D. TiaTeHeh U |IV. Rigia X iR R_Agia Y

H= iy g fAeopeut d @ @t SR gl :

Options:-
A-1II,B-1,C-1IV,D-Il, Option ID :- 292,
«A-lll,B-Il,C-1V,D-1, Option ID :- 289,




«A-1Il,B-IV,C-1I,D-1, Option ID :- 290,

.A-IV,B-II,C-1,D-Ill, Option ID :- 291,
Answer Given:- A-1V,B-1l,C-1,D-lll, Option ID : -291

Question ID:- 27

Theodor Holm Nelson founded Project Xanadu in the year

R g A A ad A vietae 'srg’ &Y =g A
Options:-

.1958/1958, Option ID :- 105,

. 1960/1960, Option ID :- 106,

. 1972/1972, Option ID :- 107,

. 1979/1979, Option ID :- 108,
Answer Given:- 1960/1960, Option ID : -106

Question ID:- 25

is a suite of protocols that were developed by the Department of Defence to provide a
highly reliable and fault-tolerant network infrastructure.

___ vieiardl o1 G 99g & [ e v gr siafdes fAgeig siik Ffewieft deadh sawzamn
UEH & o fag el fomar mar am

Options:-

.DHCP/#t = &t oY, Option ID :- 97,

. PPP.E/dY d} dt ait § (PPPoE), Option ID :- 99,

. TCP/IP/& <t dt / 3 Y, Option ID :- 100,

. VPN/dt oY =, Option ID :- 98,
Answer Given:- VPN/dt ot =, Option ID : -98

Question ID:- 42

As per UGC (Promotion of Academic Integrity and Prevention of Plagiarism in Higher Education
Institutions) Regulations 2018, which penalties in case of plagiarism in academic and research
publications shall be imposed?

A. Similarity above 10% to 40%: Shall be asked to withdraw the manuscript

B. Similarity above 30% to 40%: Shall be asked to withdraw the manuscript

C. Similarity above 40% to 60%: Shall be denied a right to one annual increment
D. Similarity above 40% to 60%: Shall be denied a right to two annual increments

Choose the correct answer from the options given below:

Rrfrenem e smat (SR fen dwaHl & srerrefAe awfasT gd aifgf@e o i dwum @t
wiedreq) faffas= 2018 & SgaR et aur it ua A FifafAes 9t & ama 7 e anfea &t
ST ST




A. 10% & 3ifd @ AR 40% d 91 g1 R Uiglafd &t gerd s & forg &gt s

B. 30% & 31fdeh & v 40% deh A1 g1 WR Uiglafd ol gerd o1 & forg &gt s

C. 40% & 31fde & SRR 60% dh AT g1 UR Tk arftieh da-gfg & ifAeR @ dfda &
D. 40% & 3ifdsh & A 60% dch AT g1 WR &l a1ftfes da-qfg & fdaR @ dfda e
H fRw e faereat & O 9 IR o1 T+ hifog :

Options:-

.A and C only/&de A 3R C, Option ID :- 166,
. A and D only/ahaet A 3R D, Option ID :- 165,
. B and C only/ha«t B 3R C, Option ID :- 167,

. C and D only/@haet C 3iik D, Option ID :- 168,
Answer Given:- C and D only/ehast C 3R D, Option ID : -168

Question ID:- 80

Arrange the following Public Libraries Acts according to their year of enactment in ascending
order :

A. Gujarat

B. Chattisgarh
C. Rajasthan
D. Goa

Choose the correct answer from the options given below

A qeaaed aifdfaet & sifdfame auf &t omRid oo 7 coafa &1 :

A. TSR

B. B<iaTe

C. IS

D. iar

1 Ry 7y Rreredt & & Tl SR T :
Options:-

.A, D, C, B, Option ID :- 320,

. B, A, C, D, Option ID :- 317,

. D, A, C, B, Option ID :- 318,

. D, C, A, B, Option ID :- 319,
Answer Given:- D, A, C, B, Option ID : -318

Question ID:- 85

Arrange the following by their year of creation in ascending order :




A. Moris Worm

B. Creeper Virus
C. Storm Botnet
D. Animal (Trojan)

Choose the correct answer from the options given below:

fAefafad Ft ah SafR af F i@ srr d FafR@a =1 :

A. AT anf

B. shItR arred

C. @i diete

D. gfmre (gisr)

92 Rg g Rereaf F @ af IR gH

Options:-

.A, C, D, B, Option ID :- 337,
. B,D, A C, Option ID :- 339,
.C,B, A D, OptionID :- 338,

. D, A, C, B, Option ID :- 340,
Answer Given:- B, D, A, C, Option ID : -339

Question ID:- 89

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Federated search was developed to provide simplified access to electronic content
that libraries acquire.

Reason R: INFEED supports access to e-resources in university libraries.

In light of the above statements, choose the most appropriate answer from the options given
below

TR FuRuag g : v ifpy= (A) & v A faf@a g af goR1 39t FRUT (R) & U H ¢

SMfHRU (A) : Huag QM & AR Turerdl ZRT UTE fhy ST a1t sAagi=eh dhe~e T Tetihd
IfWTH weT A & fore forar war ami

&R (R) : STHIS (31 T U § £ &) fayfenreal & dureral d € - dareEt & sifvm i agraan
T gl

IWRI<E HYAT & et A, 2 Ry 70 Raeal § @ gad Iugeh 3R &1 994 fifg :

Options:-
.A is correct but R is not correct/(A) §gt & U= (R) |at =gl g1, Option ID :- 355,




. Ais not correct but R is correct/(A) 9gl T8i & == (R) Hat &1, Option ID :- 356,

. Both A and R are correct and R is the correct explanation of A/(A) 3R (R) &< @@l & 3R (R),
(A) & wgt =g g1, Option ID :- 353,

. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iR (R) gi<if |@l & U
(R), (A) &t @& aarear 1€t &1, Option ID :- 354,

Answer Given:- Both A and R are correct but R is NOT the correct explanation of A/(A) 3R (R)
g1 9t & iR (R), (A) Y TE =areT =g &1, Option ID : -354

Question ID:- 29

A type of attack in which a person or program disguises itself as another person or program to
gain access to some resource is called

AT o Uah TR 1w aafth sruar vium @ @ faredt = aafvh ar vium & wu F feeht 9are= a
& 3rf i & fOT B%1 TU YRUT HET &, FT AT g ?

Options:-

.Masquerading/aT:f2TT, Option ID :- 113,
. Phishing/ftsf2i1, Option ID :- 115,

. Sniffing/fAfth, Option ID :- 114,

. Spooling/¥gfeiw, Option ID :- 116,
Answer Given:- Phishing/ftsf2i, Option ID : -115

Question ID:- 17

According to S. R. Ranganathan, "Spot Subject" is a

Options:-

.Subject formed by coupling two or more subjects/al ar & @ 3ifdres fawat &t AR F=TaT T™ET
fawa 1, Option ID :- 65,

. Subject of great extension and enormous intention/fawa, fSreerT =amues fawar &1 ok Ig2T aga
faa gti, Option ID :- 66,

. Subject of great extension and small intention/fasa fwerT amues fawar gt ok 38T &g &t,
Option ID :- 68,

. Subject of small extension and great intention/fawa fSTeT AR & g} 3k I2T " &,
Option ID :- 67,

Answer Given:- Subject of great extension and small intention/fawa fSi¥rert eomues faarR &t eii?
3829 1Y g1, Option ID : -68

Question ID:- 28

The first version of Unicode was

gfhlE T UgHAT HERIOT ____ T :

Options:-
.16 bit encoding/16 fae gaifm, Option ID :- 110,




. 32 bit encoding/32 fae g=rerlfa, Option ID :- 111,
. 64 bit encoding/64 fae gTerifS, Option ID :- 112,

. 8 bit encoding/8 fare g=aIfET, Option ID :- 109,
Answer Given:- 8 bit encoding/8 fare s=aifS, Option ID : -109

Subject : LIS_SHAAN_NOV21B

Question ID:- 95
Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of
philosophical problems related to science. Epistemology is an important philosophical
subdiscipline concerned with the nature, sources and limits of knowledge. A crude classification
of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism
stresses observation. Historicism stresses the role of background knowledge. Pragmatism
stresses the role of analysing values and goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting
in the world as constituting the a priori of human knowledge. Value-knowledge, factual
knowledge and procedural knowledge are three types of knowledge. Having value-knowledge
means knowing what fulfils the criteria of good values. Having factual knowledge means having
true beliefs about the three worlds in which one is living. Having procedural knowledge means
knowing how to carry out a specific act or act sequence. Knowledge can be unarticulated or
articulated. Unarticulated knowledge is, for instance, tacit knowledge, familiarity, knowledge by
acquaintance. The pragmatic view of knowledge is of special importance to Library and
Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.

frafaf@a werisr &) ufew ik 39 W= Ry 7w s & SR |

s & g2 A s fiuiay deeft gue]d qur A= @ 96T o= yeR Y Zi2ffes guwd anfae
&1 = Hiwian uepfa, sruEl ok 3= & Hiareit @ a1 Agwayuf anifae 3u e &1 gEya T Hiwir
&1 AR dR R Fffaor §; adgfgars, gidiavor @ gd & ffe = g« a1 81 sfargymaang duor
R g 34T g1 sfagrare guyfd e fi et iR e a1 g1 agiReare geat ok IgRal & fascwor
& yfAepT R ae ar @1

agIReh gfeehlvr Wyae: a1 fasm @ sarer ander g1 ag Ay 7 siaer oik @rd &l dgar g =it ik
#1=g 74 F urafAerar a1 fAafor war g1 9 ywR & 7119 € - g suTlRa 71, aaree I 3R
uferar sreRRa 71911 g streTRa A1 &1 31 313 geal & ATugs &Y gQuf STHaR) @1 81 9T s
T &1 3 fiA1 SFTa | 3@ aret aafh & IR J e Ay w@=n g1 ufshar siurRa w4 @ orf fafre
& T HrE & ThH I TR @A & dh R STFRRT [T &1 T IR AT SR gt Gehell gl
10T & foIg sigeaTia I+ w9 91, uR=d a1 uga & 919 § H6fdd §1 T4 & adgiRe g
q&IhTead 3R a1 faa &t faiy ag<a @« € Faifes ag g gd a1 s swue=t &
TR AT @ ST & T8 A A ar arfofRes a1 grdwi=es qaehTerd, Sit sl d dar
W e R AFea A J2 8|

Which one of the following knowledge types is difficult to transfer to another person ?

fA=fafaa A 9 fFg yaR o1 719 &1 =R fhdft s aafs A swfear 2 2

Options:-
.Articulated knowledge/3S=afRd 71, Option ID :- 377,




. Declarative knowledge/awuriees 4, Option ID :- 379,
. Social knowledge/9m™TfSYes 714, Option ID :- 378,

. Tacit knowledge/#= ¥4, Option ID :- 380,
Answer Given:- Articulated knowledge/S=afka s, Option ID : -377

Question ID:- 92
Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of
philosophical problems related to science. Epistemology is an important philosophical
subdiscipline concerned with the nature, sources and limits of knowledge. A crude classification
of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism
stresses observation. Historicism stresses the role of background knowledge. Pragmatism
stresses the role of analysing values and goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting
in the world as constituting the a priori of human knowledge. Value-knowledge, factual
knowledge and procedural knowledge are three types of knowledge. Having value-knowledge
means knowing what fulfils the criteria of good values. Having factual knowledge means having
true beliefs about the three worlds in which one is living. Having procedural knowledge means
knowing how to carry out a specific act or act sequence. Knowledge can be unarticulated or
articulated. Unarticulated knowledge is, for instance, tacit knowledge, familiarity, knowledge by
acquaintance. The pragmatic view of knowledge is of special importance to Library and
Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.

fA=afafaa werir &) ufew ik 39 W= Ry 7w usi & = |

s & a2f= A 3= diaiar et g qun RfTE @ gdfda s yar 6 greifte aa] anfas
&1 7 i vepfa, real iR 3 & Hiareit @ Sy Agaguf E1ffAe 3u e &1 gersya T diwian
&1 A1 dR W Fffepeor §; adhgfgars, Sgidiaror @ gd Y YA wR o« a1 81 sfargyrearTs twor
WR I &1 g1 sfagrare guyfd 7= fi et iR o« a1 g1 agiReare gedt oiik IeRal & fasawor
& et R T« AT 1

ZagiRes gfeeior @vad: a1 faam @ sarer ardar g1 gg fay 9 sfia oik ord o6t Saar g it for
ATg A & srafAcear o1 fFafor wwar 81 9 ueR & 7 € - gea sutRa 3, awrersd I SR
uferar smaRe 7111 Foa suTRa a1+ 1 o1 o= Jl & ATugs fi gof SRR @@= 81 aars
79 &1 31 fiT SrTa A @ aret afh & aR ° g fAyra @@= 21 ufehar sieamRa 3= a1 eief fafare
& T S & ThH Bl ST @A & adich il STFRRT I@HT g1 T IR T SI=aTiRd gt Gehdl gl
1T & forg srg=aTiRa s #9714, aRaa a1 ugaq & 919 @ 96fd g1 719 & aagiRe gfitewtor
q&IehIerd 3R a1 fasH ol fasiv wgva wad ¢ i ag qraarera va gaar e dwam=t &
ISR YRRt | ST @ 918 A a1 a1 arfofSies a1 |rdeT-e Q&ihierd, Sit dldhas 6l Qa1
@ & ok Fea 9 52 &1

Which one of the following methods states that knowledge comes primarily from the sensory
experience?

Frafafaa 7 @ w9 @ ugfa gardt @ fF 79 qea: 93 sy | ara glar @ ?
Options:-

.Empiricism/gfeargrears, Option ID :- 368,

. Historicism/sfagraare, Option ID :- 366,




. Pragmatism/aaagrare, Option ID :- 367,

. Rationalism/adhgfgarg, Option ID :- 365,
Answer Given:- Empiricism/3f3argyraang, Option ID : -368

Question ID:- 93
Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of
philosophical problems related to science. Epistemology is an important philosophical
subdiscipline concerned with the nature, sources and limits of knowledge. A crude classification
of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism
stresses observation. Historicism stresses the role of background knowledge. Pragmatism
stresses the role of analysing values and goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting
in the world as constituting the a priori of human knowledge. Value-knowledge, factual
knowledge and procedural knowledge are three types of knowledge. Having value-knowledge
means knowing what fulfils the criteria of good values. Having factual knowledge means having
true beliefs about the three worlds in which one is living. Having procedural knowledge means
knowing how to carry out a specific act or act sequence. Knowledge can be unarticulated or
articulated. Unarticulated knowledge is, for instance, tacit knowledge, familiarity, knowledge by
acquaintance. The pragmatic view of knowledge is of special importance to Library and
Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.

fA=faf@d weriar &t ufew eik 37 W 2w 7o usil & SR AfSg:

s & &2 A 7= diwian deioft gue]g aun s @ gEfda o yaR i geifte gawa] anfas
&1 I Hiwiar uepfa, "=t ofik w1 & Hwmeit | Sy Aevayut aRffAe Iu e @1 geroga 3= Hiwiar
&I Al dR WR Fffepeor §; adhgfgars, Sgidiaror @ gd &Y Yffewr uwR o« a1 81 sfargreans twor
R g &1 g1 sfagraare guyfd 71 A st iR g« a1 81 agiReaa e geat ok Il & fascwor
fI yffiept wR e a1 81

ZagIReh gfeehivr Evaa: -1 fas= @ sarer ander g1 ag Ay 7 sfiawr oiik &l &t d@ar g =it i
#1=g A4 Fi urafAerar a1 fAafor awar g1 9 yeR & 7119 € - g suTlRea 71, aaree 71 8k
uferar sl 71911 g st A1 &1 31 o< geal & ATugs &Y guf STHSR) @1 81 9T s
T4 &1 31 fiAT SrTa | 3@ aret aafh & IR J e Ay @@= g1 ufshar s 3= @t oref fafare
& T T o ThH Bl ST @A & dich Y STFRRT IGHT &1 T IR T ST gt Sahell gl
IeTee0l & forg srgeania s+ w1 o+, uRaa ar uga= & 9+ @ Heafde 81 99 & sgagiRas gfeawion
g R oA fas &t faLiy Ag<a wad € wifes a8 qrasrera gd gaar fasm St &
TR AT § 31 ¢ T8 A ek ar aifofes a1 Jrdsi=e Q&ihTad, St dldheds 6l @at
@ & ok Fea 9 52 &1

Which of the following is not a reason for the pragmatic view of knowledge of special importance
to library and information science?

Aafaf@a § @ &9 qraarea ok o= faae & ddu | fAdw #agwa & a9 gq adgiRa gRwn &
HROT A 8 ?
Options:-

.Connected to the societal role of LIS institutions/d=arsii & amfA® YA & F2 &1, Option ID
- 369,




. Is a representation of reality or a 'Mirror of Nature'/arifaerdr a1 ufaffde &= are ar ‘ugpfa
@1 gdur'., Option ID :- 372,

. Living and acting in the world as constituting the 'a-priori' of human knowledge/aT=a IIT= &Y
UTAfARdT & ¥ & SHT1g # g1 3R & =411, Option ID :- 371,

. Public libraries serving democracy and enlightenment/aTdsifAes g dlchd 3R FHed
& |ar 2a &1, Option ID :- 370,

Answer Given:- Connected to the societal role of LIS institutions/S=ar3ii & amfAe YfAwr @ 2
&1, Option ID : -369

Question ID:- 91

Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of
philosophical problems related to science. Epistemology is an important philosophical
subdiscipline concerned with the nature, sources and limits of knowledge. A crude classification
of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism
stresses observation. Historicism stresses the role of background knowledge. Pragmatism
stresses the role of analysing values and goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting
in the world as constituting the a priori of human knowledge. Value-knowledge, factual
knowledge and procedural knowledge are three types of knowledge. Having value-knowledge
means knowing what fulfils the criteria of good values. Having factual knowledge means having
true beliefs about the three worlds in which one is living. Having procedural knowledge means
knowing how to carry out a specific act or act sequence. Knowledge can be unarticulated or
articulated. Unarticulated knowledge is, for instance, tacit knowledge, familiarity, knowledge by
acquaintance. The pragmatic view of knowledge is of special importance to Library and
Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.

fA=afaf@a werisr & ufew ik 39 W= Ry 7w usif & SR |

s & &= A 3= fiwian e we]g aur o= @ 96T o yaRr Y g2t e anfae
&1 = Hiwian uepfa, reEl ofik = & Hiwreit @ a1 Agwayuf anffae 3u e &1 gEya a Hiwir
&1 A AR R Fffeor g; adhgfgare, Sgidiaror & gd fi yffe w a1 3ar &1 sRamgraars duor
R g &1 g1 sfagraars guyfd 79 A YfAwr iR g« &a1 g1 agiReare geut ok 3g2at & fascyor
& T R T« Zar g1

g gfeivr Hvae: a1 fas @ sarer ander g1 ag Ry 7 sfiawr oik &l &t d@ar g =it i
#1=a A Fit urafAerar a1 fAafor war g1 9 yeR & 7119 € - g suTlRe 71, aaree 71 3R
uferar sl 71911 g streTRa A1 &1 31 31<3 geal & ATugs &Y guf STHSRY @1 81 9T s
T &1 31 AT SrTa | 3@ aret aafh & IR J e Ay w@=n g1 ufshar s 3= @t oref fafare
& T I o ThH Bl ST @A & adich Y STFRRT WRGHT &1 T IR T ST gt Sahell gl
T80l & forg srgeania I+ w1 3+, uRaa ar uga= & a1+ @ Hafda 81 919 & sgagiRas gewion




q&IehIerd 3R a1 fasH ot fasiy wgva w@d € i a8 qeaarera ga gaar s dwm=t &
TR AT @ 3T & T8 A a1 a1 aifofAes a1 Jrdei=e Q&ieTed, STt @l 6l @ar
@ & R Il | J2 €I

Which of the following branches of Philosophy studies the nature, origin, and limits of human
knowledge?

gefeme i A=faf@a amarsit & @ &= t amar ara 3= 6 ugfa, Iafa ik darei o s
HAT g ?

Options:-

.Epistemology/sim= #iwiar, Option ID :- 363,
« Ethics/3IIRMIE , Option ID :- 362,

. Logic/adh , Option ID :- 364,

. Metaphysics/d#isiar, Option ID :- 361,
Answer Given:- Epistemology/3T< Hiw=idr, Option ID : -363

Question ID:- 94
Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of
philosophical problems related to science. Epistemology is an important philosophical
subdiscipline concerned with the nature, sources and limits of knowledge. A crude classification
of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism
stresses observation. Historicism stresses the role of background knowledge. Pragmatism
stresses the role of analysing values and goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting
in the world as constituting the a priori of human knowledge. Value-knowledge, factual
knowledge and procedural knowledge are three types of knowledge. Having value-knowledge
means knowing what fulfils the criteria of good values. Having factual knowledge means having
true beliefs about the three worlds in which one is living. Having procedural knowledge means
knowing how to carry out a specific act or act sequence. Knowledge can be unarticulated or
articulated. Unarticulated knowledge is, for instance, tacit knowledge, familiarity, knowledge by
acquaintance. The pragmatic view of knowledge is of special importance to Library and
Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.

A=fafEa werizr ot ufey ofik 399 R Ry 7o s & R |G ::

s & a2 A 7= diaiar et gue]g aun R[fse @ gdfda sra yaR di greifte 9] anfas
&1 74 e uepfa, TreEt ok 3= i et @ 1 Aevayuf et Su e &1 geraga 7 Hiwian
& A @R R Ffferror g; adgfgars, dgidiaror @ gd Y yffewr «= a« Ear 81 sargymaars dwor
WR g &a1 g1 sfagraars guyf@ a9 & YfAdT iR g a1 §1| TasiReare geal ok 3g2at & fasewor
fI yffiept wR e AT 81

AR gieehivr Wvaa: -1 fas= @ sarer ander g1 ag Ay 7 sfiawr oiik ol &t d@ar g =it i
ATa A Y srafAchar o1 fAator wear 81 9 ueeR & 7 € - g suTRa 7, avarares I ok
uferar s 71911 gea st A1 &1 31 313 geal & ATugs &Y guf STHSRY @1 81 aTh




T &1 31 fiAT SPTa | 3@ aret aafh & IR J e Ay w@=n g1 ufshar s w9 @ oref fafre
1 g1 S oh T T STRY T h R’k dhl SRR I@AT 1 AT STTR T SR gt ehelT 81
10T & foIg sigeaTiRa 3+ w9 714, uR=d a1 uga & 99 § d6fdd §1 T4 & AdgiRe gt
q&IhTad 3R ga-1 fam &t faiy ag<a @ € Faifes ag g gd a1 s dwuet &
ISR YfAhT | ST ¢ 918 A AT a1 aifoifSieh a1 TduT-eh G&IehIerd, STt dldhas il Qa1 @
@ & ok Fea 9 52 &1

'Knowledge exercised in the performance of some task' is a

foreht ot & fArsaTes & = AT SUAhT AT E ?

Options:-

.Factual knowledge/daredeh 39, Option ID :- 374,

. Procedural knowledge/sfehar Geeft 11+, Option ID :- 373,
. Social knowledge/am™TfSYer AT, Option ID :- 376,

. Value knowledge/qsq - 3trenie 114, Option ID :- 375,
Answer Given:- Procedural knowledge/sifehar Sisieft 7114, Option ID : -373

Subject : LIS_SHAAN_NOV21C

Question ID:- 99
Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review.
Undergraduate research would be expected to discuss all of the most prominent research. A
literature review is a critical discussion of all the significant available literature that contributes to
the understanding of a subject. A literature review is a written document that presents a logically
argued case. There are six steps in the literature review process: topic selection, literature
search; developing an argument; literature survey; critique and write a review. The literature
review process requires four separate skills such as the ability to search appropriate sources and
scan the literature efficiently, to use manual and online methods, to identify and obtain a set of
useful articles, chapters and books; the ability to judge a source based on a number of criteria,
including the source itself, the author and the subject; the ability to examine and analyse the
content of the literature systematically; and the ability to synthesize the various concepts and
evidence a researcher has found into a structured piece of discursive prose that provides context
and background on the research in the area.

fAfaf@d weriar &t ufew ik 39 muR wR Ry 71T usil & SR AfSg::

forelt S=a faft 2ty @ ag srdan i St @ o faea weften A id Ae~ayof &rd ster 7 mn g gd
e (SisdNqee) Mty @ ug srafard giv fF it waffdew wgwagef et ur ==t g wfger weften 3=
¥} Agvayuf Iusey wifgwt & wfanars aaf § St R v wt gz d g gid &1 faeht
aifgea &Y wften ag @« uda @ Sit adyef @i @ fava &t uega wwar 81 afgea wfem uferar &
©: W1 g & : vy o1 w79, favg St gaen i @i, a<db - Rad o e, aifgfQs aderor,
ST T e aa | afge ften ufohar & IR gues sl & smagewdr gidl 8, aur Iugsh
Hidl ol g auT GIfgdd ol Tha e A a7 ez fAfdat & Iughn & & & &
ZeTATgdch -t Y &THaT, TUT IUGRfY Sfreral, 1earal aUT G&iehl & Yah G 6l Ugd e aUT 3¢
YT v hl &IHET; 3eh AHEUST, A9 W |, @ aur fawy oft anfae g, & smur uR foheft wia
F ST HeA Y &aT; Ik ATfgd Y AT ot AT FU F STiA TUT IR fAsAwor e
&Y e ok My A urft 7 RN srauRone aut wieal ol Geag adhaed Ter TET 7 SeAfte
T, [Raw 39 & | oy & gy aur guyf Y sSR! U gt a5kl




Which among the following skills is required to synthesize concepts that can provide context and
background of the research problem?

My ust & T au1 yuYfA ff SRR urd F & fag FafafEa F 9 e slaeg f smaaaa
GRS ohT fasAwor e & fAw gdt @ 2

Options:-

.Ability to examine and analyse the context/3idd<g @t STia= aUT IHHT fAscwor Tzt hi e,
Option ID :- 393,

. Concept and evidence formulation/3taerRum a1 9req ufdures, Option ID :- 394,
. Judging a source/farlt | &t 3ret=T A i erwdT, Option ID :- 396,

. Potential to search appropriate sources/3Iug~h Hid &1 & &, Option ID :- 395,
Answer Given:- Concept and evidence formulation/3TaeRum a1 "1eg ufdures, Option ID : -394

Question ID:- 98
Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review.
Undergraduate research would be expected to discuss all of the most prominent research. A
literature review is a critical discussion of all the significant available literature that contributes to
the understanding of a subject. A literature review is a written document that presents a logically
argued case. There are six steps in the literature review process: topic selection, literature
search; developing an argument; literature survey; critique and write a review. The literature
review process requires four separate skills such as the ability to search appropriate sources and
scan the literature efficiently, to use manual and online methods, to identify and obtain a set of
useful articles, chapters and books; the ability to judge a source based on a number of criteria,
including the source itself, the author and the subject; the ability to examine and analyse the
content of the literature systematically; and the ability to synthesize the various concepts and
evidence a researcher has found into a structured piece of discursive prose that provides context
and background on the research in the area.

fA=faf@d weriar &t ufew ik 39 muR wR 2y 7T usil & SR AfSg::

forelt 3=a 2t 2ty & ag srdam hi st @ for arfgea Tvften d s Agvaygot & rd ster 7 mam gh gd
e (SisdNqee) My @ ug srafara giv fF aft waffde sgwaygef et ur ==t gt wfgwr weften 3=
a} Agvayuf Iusey wifgwt & wflanares aaf § St R v wt awe d g gid &1 et
aifgea &Y wften ag @« uda @ it adyef aid @ fava &t uega wwar 81 afgea whem uferar &
©: TRUT gI & : fawa o1 =g=, fawa Sedt gaen Y @y, a9 - RAad o1 e, ifgfAs adearor,
ST T e aa | afge ften ufohar & IR gues sl & smagewdr gidl 8, aur Iugsh
Hidl ol g auT Gifgd ol Tha e A a7 Hi-erre- fAfdat & Iughn & & & &
ZeTATgdch -t Y &THaT, TUT IUARfY Streial, 1earal aUT G&iehi & Yok | 6l Ugd e aUT 3¢
YT & hl &IHET; 3eh AHEUST, A9 W |, @ aur fawy oft anfae g, & smur uR foheft wia
F ST HeA Y &AaT; Ik ATfg Y AT T AT FU F STiA TUT IR fAsAwor e
&Y e o My A urft 7 AN srauRone aut wieal ol Geeag adhaed Te AT 7 SeAfte
e, [Ras 39 & | My & gy aur ysyf Y sSR! U gt a5kl

The third step of the literature review process stresses on:




aifgea gfterm ufehar &1 fioT R fFA wRawr 2ar g ?
Options:-

.Critique/31Teit=r=T, Option ID :- 392,

. Logical arguments/dah SiTTe u¥gef, Option ID :- 389,
. Topic selection/2fiter @1 Tra=, Option ID :- 391,

. Writing/&@4, Option ID :- 390,
Answer Given:- Logical arguments/deh ST U¥gef, Option ID : -389

Question ID:- 97
Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review.
Undergraduate research would be expected to discuss all of the most prominent research. A
literature review is a critical discussion of all the significant available literature that contributes to
the understanding of a subject. A literature review is a written document that presents a logically
argued case. There are six steps in the literature review process: topic selection, literature
search; developing an argument; literature survey; critique and write a review. The literature
review process requires four separate skills such as the ability to search appropriate sources and
scan the literature efficiently, to use manual and online methods, to identify and obtain a set of
useful articles, chapters and books; the ability to judge a source based on a number of criteria,
including the source itself, the author and the subject; the ability to examine and analyse the
content of the literature systematically; and the ability to synthesize the various concepts and
evidence a researcher has found into a structured piece of discursive prose that provides context
and background on the research in the area.

fAafafaa werisr &) ufew ik 39 myR R Ry 70 usit & IR fSw :

et S=a faht 2nty & ag srdan i st @ for wifgea wefien A i wg~ayof &rd ster 7 mn gt gd
HITaeh (SizdNqee) Mty @ ag srafara gh fF wsft waffde wewaygef et ur ==t g wfgw wsften 3=
gt Agayguf Iuesy Tifgat it grftenares Tt ¢ st faeft favg &) gweF & ggras gid &)1 fah
aifgea Y geften ag fAf@a uaa & sit adhgef a8 @ favg ot uega w=ar 81 arfger sften uferar
©: TRUT gi & : fawa o1 =og=, fawa Sedt ga=n Y @l 9 - RAad o1 e, eifaf@s adaror,
ST T e aa | afge e ufohar A IR gues wiere 6 smagedr gidl 8, aur Iugsh
Hidl ol g aUT GIfgdd ol ThA e AGIH AT ez fAfdat & Iughn & & & &
Z&TATdeh et Sh &THHT, AT IUARTT STerEl, AT TUT G&Iehl & Geh HeE i Uga Hhed auT I
YT e h) &HdT; 3k AEUEl, - @ Sia, d@e aur Quyg off anfae € & smur wR faedft |
&I A= e Y &1HdT; I3k Hifged hl Id] ol AT FU & S AT I7HT fA=qwor &=+
& erwaT; SR My F arht w1 fRAfNT saurRone auT A1eal Bt YHaG ddee el T | SsdAfva
&l Tt 39 & A ity § g aur gy it ST=Rr vt gt a1

Which among the following is not a characteristic of "Review of Literature"?

Fafaf@a & @ o= "aifge avften” 6 fRtvar 7 § 2

Options:-

.Arguments based on logic/d - faaeh smemfe u=ge, Option ID :- 388,
. In-depth knowledge/ g1 3114, Option ID :- 387,

. Statistical Analysis/dif@rha fasswor, Option ID :- 385,

. Understanding of the subject/fawa &Y @#1=1, Option ID :- 386,




Answer Given:- Statistical Analysis/@rif@hia fasswor, Option ID : -385

Question ID:- 96
Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review.
Undergraduate research would be expected to discuss all of the most prominent research. A
literature review is a critical discussion of all the significant available literature that contributes to
the understanding of a subject. A literature review is a written document that presents a logically
argued case. There are six steps in the literature review process: topic selection, literature
search; developing an argument; literature survey; critique and write a review. The literature
review process requires four separate skills such as the ability to search appropriate sources and
scan the literature efficiently, to use manual and online methods, to identify and obtain a set of
useful articles, chapters and books; the ability to judge a source based on a number of criteria,
including the source itself, the author and the subject; the ability to examine and analyse the
content of the literature systematically; and the ability to synthesize the various concepts and
evidence a researcher has found into a structured piece of discursive prose that provides context
and background on the research in the area.

fA=afafaa werir &) ufew ok 39 enyrR R Ry 1 usit & IR HfSw:

forelt 3=a 2t 2ty & ag srdam fi et @ for arfger avhten d i Agvaygot & rd ster 7 mam gh g
s (siswisiue) My & g sriféra ghm 6 it gaifies wgvaygef muf uwr ==f gh afge wfian s
gt Agvaygof Iueey Tifgat ft Trhtenares gaf ¢ St fhht v ) gwe & ggras gid &)1 fah
aifgea &Y geften ag Af@a uaa g St adhgef a8 S favg ot usga wwar 81 arfges wften uferar
: WUT g & : v a1 o, v et gaen i @, < - Rad o e, @ifaf@e adamr,
SMreraET aur Tt dae1 wifger weften ufthar § 9R ques e i sragehar gl @, auT Iugsh
Hidl ol & auT AIfgT T R A= a7 iars fRAfdat & Iuaht = & &wr ot
ZeTdTgech he-t Y &1HaT, ST IUGHHY Sireral, Srearal aUT YEaehi & Yah | fl Ugd e aUT 3¢
YT &R <l &THET; 3 AEUS!, A9 @ |, e a1 fawg oft anfae € & snur R foreft wia
&Y SITArEAT he Fi erT; Sk Aifgdd Fi sivadg ol afAa w0 | Stig auT I fasavor wA
&Y erwar; 3R My F arht w5 RAfST srauroneit quT |18al ot YOG dhged el AT | dedAfa
&A1, forad 39 & A ity & g aur guyf fr S ureE g @)

At which stage the "review of literature” is usually a representative of the most "prominent
research"?

fra =Ror # "arfger wften” amrae: gaifde wgwagof iy’ o afafafa gidt & 2
Options:-

.Master's Level/&THehi<iR &7, Option ID :- 381,

« PhD Level/dt o 3t TR, Option ID :- 382,

. Post Doc Level/3<R Sfeeie &R, Option ID :- 383,

. Undergraduate Level/qd Tde %R, Option ID :- 384,
Answer Given:- Undergraduate Level/gd &Tedeh &R, Option ID : -384

Question ID:- 100
Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review.
Undergraduate research would be expected to discuss all of the most prominent research. A




literature review is a critical discussion of all the significant available literature that contributes to
the understanding of a subject. A literature review is a written document that presents a logically
argued case. There are six steps in the literature review process: topic selection, literature
search; developing an argument; literature survey; critique and write a review. The literature
review process requires four separate skills such as the ability to search appropriate sources and
scan the literature efficiently, to use manual and online methods, to identify and obtain a set of
useful articles, chapters and books; the ability to judge a source based on a number of criteria,
including the source itself, the author and the subject; the ability to examine and analyse the
content of the literature systematically; and the ability to synthesize the various concepts and
evidence a researcher has found into a structured piece of discursive prose that provides context
and background on the research in the area.

fA=afafaa werir &) ufew ok 39 enyrR R Ry 7 usit & IR HfSw:

forelt 3=a 2t 2ty & ag srdam fi et @ for arfgea Tehten A i Agvaygof @it ster 7 ™ gh g
i (sizwisiue) My & g sriféra ghm 6 asft gaifies agvwagef muf uwr ==f gh afges wfien s
gt Agvaygof Iueey Tifgat fY grhtenares gt ¢ st faeht v &) gweE & geras g &)1 fah
wifgea Y geften ag Af@a uaa g St adhgef a8d S favg ot usga wwar 81 arfges e uferar
: W1 g & : v o1 =, v St g i @, < - s o e, @ifaf@e adar,
SreraET aur Tt Saet1 wifger weften ufthar § 9R ques wiere i sragehar gkl @, auT Iugsh
Hidl ol & auT |IfgT it T R A= a7 iars RAfdat & Iuaht = & &wr ot
ZeTaTgdh ehe-t Y &THaT, TUT IUARTY Sfreral, S1earal aUT YEaehi & Yah G fl Ugd e aUT 3¢
YT &R <l &IHET; 3k AHEUS!, A9 @4 |, e a1 fawg oft anfae & & smur wR foreft &g
&Y SATAEAT he Fi &rFaT; Ik Aifgdd Fi Sradg ol Hafyd T | Stig auT I fasavor wA
&Y erwar; 3R My F arht w5 ST srauroneit auT w1l ot YOG dhged el AT | dedAfva
&A1, forad 39 & A ity & g aur gy fr S ure g @)

Evaluation of a source for the process of review does not depend on:

gter &Y ufehar aq fFeh Tia o1 g Pafef@a d @ e m AR adiwwarg ?
Options:-

.Author/st@h, Option ID :- 398,

. Language/¥mdT, Option ID :- 399,

. Source/gld, Option ID :- 397,

. Subject/faw=, Option ID :- 400,
Answer Given:- Source/d¥d, Option ID : -397
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